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UGC NET PAPER 2 DECEMBER 3, 2021 SHIFT 2 ELECTRONIC SCIENCE QUESTION PAPER

Topic:- ElectSci_SHAAN_NOVZ1A

1) For semiconductor, with both electrons and holes as carriers, the resistivity can be expressed as:

[Question ID = 709][Question Description = 52_q5Nz_PG_ETS_Q01]
T g (Hrn+ Hp )

[Opticn ID = 2833]
2. g{nn-ppp)
[Option ID = 2834)
.
(b, + p,p)

[Option ID = 2835]
1

A,
Gl N + 1, p)

[Option ID = 2836]

Carrect Answer :-
® g (Unn+pp)
[Option ID = 2833]

2) The band structure of a crystalline solid, that is, the energy momentum (E-K) relationship, is usually obtained by solving:

[Question ID = 710][Question Description = $2_qSNz_PG_ETS_Q02]
Laplace Equation [Option ID = 2837]

Poisson Equation [Option ID = 2838]

Schrodinger Equation [Option 1D = 2839]

Maxwell Equation [Option ID = 2840]

N S PPN

Correct Answer :-

e |aplace Equation [Option ID = 2837]

3) The Schottky effect is the image force induced lowering of the potential energy for charge carrier emission when an
electric field is applied. The attractive force called image force is:

[Question ID = 711][Question Description = 52_q5Nz_PG_ETS_Q03]
o

16X

[Option ID = 2841]

—

161 € oX

[Option ID = 2842]
—q

B e
16T € ox°

[Option ID = 2843)
4 Lz
BT € (X
[Option ID = 2844]
Correct Answer :-
« 9
16TTx?
[Option ID = 2841]

4) In JFET, the Pinch-off Voltage can be defined as:

[Question ID = 712][Question Description = $2_qSNz_PG_ETS_Q04]
qNpaZ
E

1.

g
[Option ID = 2845]
gNpa

2E

-
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[Option ID = 2846]

, qNpa?

2&,
[Option ID = 2847]

4 _4Np

2 E;. a
[Option ID = 2848)
Curmct knswer ik
qNpa®
'E =4

[Option ID = 2845]

5) The desired property of gate and interconnection metallization is[Question |ID = 713][Question Description =

52_qSNz_PG_ETS_Q05]
. High resistivity [Option 1D = 2849]
. Low resistivity [Option D = 2850]

1

2

3. Low conductivity [Option D = 2851]
4. Large stress [Option ID = 2854]

Carrect Answer :-
a High resistivity [Option |D = 2849]

% In a silicon oxidation mode|, E is the linear rate constant and  accounts for the shift in the time

coordinate to account for the presence of the initial oxide layer, then the linear law is

represented as:

[Question ID = 714][Question Description = $2_qSNz_PG_ETS_0Q06]

B

b o)
[Option ID = 2853]
A

Zosft)
[Option ID = 2854]
B

3. S+

[Option ID = 2855]
Bt

AT
[Option ID = 2856]
Carrect Answer :-

e B
Eﬁ“ﬂ

[Option ID = 2853]

7) In a silicon oxidation model, if C; and C; are the oxidant concentration in the bulk of the gas and

oxidant concentration adjacent to the oxide surface, respectively, then the gas phase flux are:

(hg i5 the gas phase mass trasfer coefficient)

[Question ID = 715][Question Description = $2_qSNz_PG_ETS_QO07]

1, ha

Cy— Cs

[Opticn ID = 2857]
2. g

Cq + Cs

[Option ID = 2858]
3- hG[CG_CS:}

[Option 1D = 2859]
4, hG(CG+CE}

[Option ID = 2860]

Carrect Answer :-
ha
Cn— Ca
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[Option ID = 2857]

8) If C; and C; are the equilibrium concentration of impurities in the solid and liquid near the
interface respectively, then for dilute solutions encountered in silicon growth, an equilibrium

segregation coefficient K; may be defined as:

[Question ID = 716][Question Description = $2_qSNz_PG_ETS_Q08]
CS

T, —=

G

[Option ID = 2861]

CI

G

2.

£
[Option ID = 2862]
3. CS_Cl
[Option ID = 2863]
Cs_ CI
G

[Option ID = 2864]
Correct Answer -
C
e _°
G

[Option ID = 2861]
9) The circuit shown in the following figure is initially under steady-state condition. The switch is moved from position 1 to
position 2 at t = 0. The current after switching will be;

—(l 1 Ry= 10 chm

2 EVES——ii

20v T R;= 10 ohm L

[Question ID = 717][Question Description = $2_qSNz_PG_ETS_Q09]
1. 2e'StA [Option ID = 2865]

2. 1- 2e75t A [Option ID = 2866]

3. 1+ 2e’5t A [Option ID = 2867]

4. 25t A [Option 1D = 2868]

Correct Answer ;-

e 275t A [Option ID = 2865]

10) A differential equation is given as x (t+2) + 3x (t+1) + 2x (t) =0; x(0) =0, x(1) =1. The solution of this equation will be:
[Question ID = 718][Question Description = $2_qSNz_PG_ETS_Q10]

X(KT} = (-1)}k+ (2)% [Option 1D = 2869]

X(KT} = (-1)%- (2)% [Option ID = 2870]

X(KT} = (-1)}%+ (-2)k [Option ID = 2871]

x(KT) = (-1)¥- (-2)* [Option ID = 2872]

T e

Correct Answer ;-
o x(KT) = {-1)%+ (2)¥ [Option D = 2849]

11) Consider the network shown in the following figure. The state equation of the system will be:

A L
[ ]

-..__*
i

i G) ic f‘“vc R

[Question ID = 719][Question Description = $2_qSNz_PG_ETS_Q11]

¢ @TY =[ 0 —1/0} Ve +[1fc}i
Cdt] 1/L -R/L ][ i 0



www.prepp.in

[Option ID = 2873)

5 A Ve =[ 0 —R,"L} ¥e +[1IC}
[Option ID = 2874]

¢ A% =[1fL —R;’L} Ve +[1fc}i
[Option ID = 2875]

4 A =[1fL R/L } Ve +[1fc}i
[Option ID = 2876]

| '.C.c.urrect Jh;nsa.u.ér -
. Ad[¥e =[ 0 —HC} e +[”C}i

[Option ID = 2873]

12) The roots of a system having a transfer function

4(s+2)

B = Ve

will be:

[Question ID = 720][Question Description = $2_qSNz_PG_ETS_Q12]

either -3 or -4 [Option ID = 2877]
either -3 or 4 [Option ID = 2878]
either 3 or -4 [Option ID = 2879]

N S P L Y

Correct Answer :-
e cither -3 or -4 [Option ID = 2877]

13) An amplifier has power gain of 800. Its decibel power gain is:[Question ID = 721][Question Description =

$2_qSNz_PG_ETS_Q13]
1. 19 dB [Option ID = 2881]
2. 30 dB [Option ID = 2882]
3. 28 dB [Option ID = 2883]
4. 29 dB [Option ID = 2884]

Carrect Answer :-
& 19 dE [Option ID = 2881]

14) Which of the following statements is NOT correct about Bipolar Junction Transistors?[Question ID = 722][Question

Description = 52_qSNz_PG_ETS_Q14]

1. Emitter-follower configuration will always have an output voltage slightly less than the input signal. [Option ID = 2885]

2. Common-base configuration has very low input impedance. [Option 1D = 2886]
3. The CE emitter-bias configuration with an unbypassed emitter resistor has a larger input resistance than the bypassed configuration. [Option 1D =

2887

4. The voltage-divider bias configuration has much less stability than the fixed bias configuration. [Option 1D = 2888]

Correct Answer :-

& Emitter-follower configuration will always have an output voltage slightly less than the input signal. [Option ID = 2885]
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either 3 or 4 [Option (D = 2880]

15) If Aqr is the total passband gain, fi is low cutoff frequency, fiis high cutoff frequency, then voltage gain magnitude of

a band-pass filter is given by:

[Question ID = 723][Question Description = $2_qSNz_PG_ETS_Q15]

Arr
JI+E FP 1+ G/ 0P

[Option ID = 2889]
Yo

Vﬂ,_

Vin

_ Arr(FIf)
J+EFP 1+ G/ 0P

[Option ID = 2890]
Vo

b

Vin

_ AerlF/£1)
J+E FP 1+ G/ 0P

3

Vin
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[Option ID = 2891]

Vi tﬂFr{fff;_)(f-"er)
J+EFP 1+ G/ 0P

[Option ID = 2892]

Vin

Carrect Answer :-

Vg At

G =GP

[Option ID = 2889]

Vin

16) Which of the following statements is wrong about noise in Operational Amplifiers?[Question ID = 724][Question
Description = $2_qSNz_PG_ETS_Q16]

1. Thermal noise is the result of random motion of the charge carriers in a resistor. [Option ID = 2893]

2. Shot noise arises from the discrete nature of the current flow in electronic devices. [Option ID = 2894]

3. Popcorn noise is caused by imperfect semiconductor surface conditions. [Option ID = 2895]

4. Flicker noise occurs in active devices at very high frequencies. [Option D = 2896]

Correct Answer ;-
® Thermal noise is the result of random motion of the charge carriers in & resistor. [Option 1D = 2893]

17) What is entered variable map?[Question ID = 725][Question Description = 52_qSNz_PG_ETS_Q17]
A map to solve the sequential circuits. [Option 1D = 2897]

An alternative to Karnaugh Map where the variable is placed as output. [Option 1D = 2898]

A modified version of Karnaugh Map where the variable is placed as composite. [Option 10 = 2899]

A tabular method for logic simplification. [Option 1D = 2900]

bl D

Correct Answer :-
® A map to solve the sequential circuits. [Option 1D = 2897]

0

1
0

S IGE=)

L R [

[Question ID = 726][Question Description = 52_q5SNz_PG_ETS_Q18]
! BD+ABD+ACD+ACD+ABD

[Option ID = 2901]

2. BD+ABD+A CD+ACD
[Option ID = 2902]

3. ABD+A CD+ACD+ABD
[Option ID = 2903]

4 ABC+ACD+ACD+ABC
[Option ID = 2904]

e

* BD+ABD+ACD+ACD+ABD

[Option ID = 2501]

Akt )

%A ) x
kA ) X
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[Question ID = 727][Question Description = 52_qSNz_PG_ETS_Q19]
- AB+AB
[Option ID = 2905]

2. 1 [Option ID = 2506]
3. 0 [Option ID = 2507

4 AB+AB
[Option ID = 2908]

Correct Answer ;-
* AB+AB
[Option ID = 2505]

20) The ripple counter shown in the following figure uses flip flops that trigger on the negative-edge transition of the C-P
input. Is the counter self-starting?

B C

Q i (I 2 J 1 I

cP CcP cPp
S &
o K a’ K 1 K T

Count Pulsa

[Question ID = 728][Question Description = 52_qSNz_PG_ETS_Q20]
Yes [Option ID = 2909]

Mo [Option 1D = 2%10])

Yes, when all inputs are 1 [Option 1D = 2911)

Yes, when all inputs are 0 [Option 1D = 2312]

oWk b2 o

Correct Answer :-
a Yes [Option ID = 2909]

21) What is the operation and result of the following instruction, given the register content shown in Figure 1.

JMP 023AH
CS=2000 AX=A407
DS=3000 BX=24B3
55=4000 CX=0002
ES=3000 DX=FFFA
SP=FFFF

BP=0009

SI=4200

DI=4300

Figure 1

[Question ID = 729][Question Description = $2_qSNz_PG_ETS_Q21]

1. The content of [P is replaced with 023AH and program execution jumps te 2023BH. [Option 1D = 2913]
2. The content of IP is replaced with 023AH and program execution jumps to 2023AH. [Option 1D = 2914]
3. The content of IP is replaced with 023AH and program execution jumps to 20239H. [Option ID = 2915]
4. The content of IP is replaced with 023AH and program execution jumps to 2023CH. [Option 1D = 2916]

Correct Answer :-
# The content of [P is replaced with 023AH and program execution jumps to 2023BH. [Option 1D = 2913]

22) If the data segment register (DS) contains 4000H, what physical address will the instruction MOV, AL, [234BH] read?

[Question ID = 730][Question Description = $2_qSNz_PG_ETS_Q22]

1. 634B0OH

[Option ID = 2917]

2. 1BASOH

[Option ID = 2918]

3. 4235BH
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[Option ID = 2919]
4, 4234BH

[Option ID = 2920]

Carrect Answer :-
& $3480H
[Option ID = 2%17]

23) The three basic structure types used to write the algorithm for a program are sequence, selection and repetition.
Which of the following is NOT an advantage of using only these structures when writing the algorithm for a program?
[Question ID = 731][Question Description = 52_qSNz_PG_ETS_Q23]

Algarithm is easy to debug. [Option ID = 2923]

Algorithm is easy to understand. [Option D = 2921]

Algorithm has very low space complexity, [Option ID = 2924]

Algorithm is easy to implement. [Option ID = 2922]

oWk b2 o

Correct Answer :-
& Algorithm is easy to understand. [Option D = 2921]

24) Which is lowest priority interrupt of 8086 microprocessor?[Question ID = 732][Question Description =
$2_qSNz_PG_ETS_Q24]

1. INTR [Option ID = 2925]

2. NMI [Option 1D = 2926]

3. INT, [Option ID = 2927]

4. SINGLE-STEP [Option ID = 2928]

Correct Answer ;-
e [NTR [Option ID = 2925]

23) For parallel polarisation, for lossless dielectrics, the expression for Brewster angle for a wave

traveling from medium 1 to the medium of refractive indices 17, and i1 respectively is

[Question ID = 733][Question Description = 52_qSNz_PG_ETS_Q25]

[Option ID = 2929]

€,/ €
2. A— i1 2 1
8 =sin \/—1+€2f€1

[Option ID = 2930]
3. 9=sin”" it
€4
[Option ID = 2931]
4 g=cos™’ =1

[Option ID = 2932]

Correct Answer :-

Choose the correct answer.

[Question ID = 734][Question Description = $2_qSNz_PG_ETS_Q26]
1. 15 [Option ID = 2933]

2. 16 [Option ID = 2934]

3. 24 [Option ID = 2935]

4. 6 [Option ID = 2936]

Correct Answer :-

e 15 [Option ID = 2933]



www.prepp.in .repp

Your Personal Exams Guide

27)  water flowing in x direction has a rate of B, = 3yzliters/minute/m? The total flow or flux of
water through the rectangular area with corners (0,0,0), (0,3,0), (0,0.2) and (0,3,2) m is

[Question ID = 735][Question Description = $2_qSNz_PG_ETS_Q27]
1. 18 liters fminute
[Option ID = 2937)
2. 27 liters/minute
[Option ID = 2938]
3. 3 liters/minute
[Option 1D = 2939)
4. 36 liters minute
[Option ID = 2940]
Correct Answer :-
* 18 liters fminute
[Option ID = 2937]

28) The value of transmission line impedance of a coaxial line of internal diameter '3" and external

diameter b’ is given by the expression:

[Question ID = 736][Question Description = $2_qSNz_PG_ETS_Q28]
d
1. z,=118,/ Erlng(g)

[Option ID = 2941]
138 a
2. Zy= log b

'ﬂ} EI’
[Option ID = 2942]
L= 128 Iog(g)
0 = a
[Option ID = 2943]
276 (a )
4. Zy= log| —

& b

[Option ID = 2944]

 Correct Answer :-
* z,=1184 Erlog(%)

[Option ID = 2941]
29) In a multimode fiber (step index), number of modes passing at an operating wavelength of 1300 nm are 1000, the
refractive index of the core is 1.50 and that of the cladding is 1.48. The value of core diameter is:

[Question ID = 737][Question Description = 52_qSNz_PG_ETS_Q29]
1. 100 nm [Option |D = 2945]

2. 2.5 ym [Option ID = 2946]

3. 125 pm [Option ID = 2947]

4. 6.25 pm [Option |D = 2948]

Correct Answer :-
& 100 nm [Qption |D = 2945]
30) In optical fibers, the Rayleigh scattering is proportional to:[Question ID = 738][Question Description =
$2_qSNz_PG_ETS_Q30]
1. 1
A
[Option 1D = 2949]
1
J\E
[Option ID = 2950]
A
}\3
[Option ID = 2951]

Pxii

2,

3.
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A
[Option 1D = 2952]
Correct Answer :-

1

A
[Option ID = 2949]

31) The absolute maximum operating frequency of a converter grade SCR whose turn on time and turn off time are 3 ps
and 200 ps respectively is:

[Question ID = 739][Question Description = $2_qSNz_PG_ETS_Q31]
1. 9.4 kHz [Option ID = 2953]
2. 5.2 kHz [Option ID = 2954]
3. 4.9 kHz [Option ID = 2955]
4. 300 kHz [Option 1D = 2956]

Correct Answer ;-
o 9.4 kHz [Option ID = 2953]

32) A single phase 220V, 1kW electric room radiator is connected across 220V supply through a triac. For a delay angle of
90°, the value of power dissipated by the radiator is:

[Question ID = 740][Question Description = $2_qSNz_PG_ETS_Q32]
1. 49,985 W [Option ID = 2957]

2. 2500 W [Option ID = 2958]

3. 398.9 W [Option ID = 2959]

4. 500 W [Option [D = 2960]

Correct Answer :-
e 49.985 W [Option ID = 2957]

33) If fis modulating frequency and mr is modulation index, then by the Carson’s rule, the bandwidth of an FM signal at
the input of a conventional discriminator will be:

[Question ID = 741][Question Description = 52_qSNz_PG_ETS_Q33]
1. 2 fm{m¢+1) Hz [Option 1D = 2961]

2. 2 fn{ms-1) Hz [Option D = 2962]

3. fum (2ms +1) Hz [Option ID = 2963]

4. fm (2my -1) Hz [Option ID = 2964]

Correct Answer :-

® 2 fy (mp+1) Hz [Option ID = 2961]

34) A 10kW carrier is simultaneously modulated by two modulating signals corresponding to a modulation index of 40% and
30%, respectively. The total radiated power will be:

[Question ID = 742][Question Description = $2_qSNz_PG_ETS_0Q34]
1. 10 kW [Option ID = 2965]

2. 12.5 KW [Option ID = 2966]

3. 11.25 kW [Option ID = 2967]

4, 10.25 kW [Option ID = 2968]

Correct Answer :-
o 10 kW [Option |D = 2965]

35) If an amplitude modulated wave 10[1+0.6 cos 2n10%] cos2m.10%.t is to be detected by a linear diode detector, then
the time constant will be:

[Question ID = 743][Question Description = $2_qSNz_PG_ETS_Q35]
1. 1.7 msec [Option ID = 2969]

2. 0.17 msec [Option 1D = 2970]

3. 17 msec [Option 1D = 2971]

4. 0.17 sec [Cption D = 2972]

Correct Answer :-

e 1.7 msec [Option 1D = 2969]

36) If the in-phase and quadrature components in an M-ary PSK system are permitted to be independent, then this scheme

becomes a;

[Question ID = 744][Question Description = $2_qSNz_PG_ETS_Q36]
1, QAM [Option ID = 2973]

2. DPSK [Option ID = 2974]

3. M-ary QAM [Option ID = 2975]

4. FSK [Option ID = 2976]
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Correct Answer :-

& (QAM [Option ID = 2973]

37) Which of the following statements is correct?[Question ID = 745][Question Description = 52_qSNz_PG_ET5_Q37]

1. Compensation of a second-order instrument is done to decrease its damping ratio. [Option D = 2977]

2. If the time constant of a temperature measuring system is increased, it would improve the frequency response of the system. [Option ID = 2978]
3. The mean square value of a random signal cannot be found from a plot of its mean square spectral density against w. [Option 1D = 287%]

4. Compensation of an instrument improves its dynamic characteristics. [Option ID = 2980]

38) The Q of the coil using series connection measurement method is given by which of the following equations?[Question
ID = 746][Question Description = 52_qSNz_PG_ETS_Q38]
({31 - Cg}

T Ois=
2 (C-]Q-] = CEQE}
[Option ID = 2981]
2 Q _ (C1_Cz}{Q1Q2}
2 (C1Q-1 = CZQZ}
[Option ID = 2982]
(C,Q,-C.Q,)
3 Qs‘: 14 22
(C,-C)
[Option ID = 2983]
C,Q,—CQ
4 Q= qhalq T Aohddy

(C,-C@Q,Q)
[Opticn ID = 2984]

Carrect Answer ;-
(C-] BB Cg)
({31{1-1 = CEQQ)

[Option ID = 2981]

* QS=

39) Using a 10-bit conversion, the dynamic range available from an input signal sampled for 4 seconds at a sampling rate of
20 kHz is:

[Question ID = 747][Question Description = $2_qSNz_PG_ETS_Q39]
1. 60 dB [Option ID = 2985]

2. 120 dB [Option ID = 2986]

3. 30 dB [Option ID = 2987

4. 15 dB [Option ID = 2988]

Correct Answer ;-
e 60 dB [Option ID = 2985]

40) If N, and N, are the corresponding speeds of input and output shafts of a Gear Dynamometer,
respectively, and g is overall mechanical efficiency, the input torque Ty applied by mass ;' at a

distance 'R’ is given by:

[Question ID = 748][Question Description = 52_qSNz_PG_ETS_Q40]

e myR
1. % HEE_ 1
N;
[Option ID = 298%]
. = myR
ND
[Option ID = 2990]
. ng
3. i 1 _ Eﬂ
n N,
[Option ID = 2991]
m,R
— g
4, Lh g EL
1 N,

[Option ID = 2992]
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Correct Answer ;-
m_ R
s 5 = N'g
i - o,
ny 1
[Option ID = 298%]

41) In enhancement type of MOSFET, at zero gate bias:
A. Channel conductance is very low

B. Channel conductance is very high

C. Channel resistance is very low

D. Channel resistance is very high

Choose the correct answer from the options given below:

[Question ID = 749][Question Description = $2_qSNz_PG_ETS_Q41]
1. Aand B only [Option 1D = 2993]
2. Aand C only [Option 1D = 2994]
3. Band D only [Option ID = 2995]
4, A and D only [Option 1D = 2996]

Correct Answer ;-

e« Aand B only [Option 1D = 2993]

42) The maximum operating frequency of a MOSFET is

L
2

B. 1, Vp
2ml2

pL?
21

D. Hp VD‘
2mL

Choose the correct answer from the options given below:

[Question ID = 750][Question Description = $2_qSNz_PG_ETS_Q42]
1. Aand € only [Option ID = 2997]
2. Aand D only [Option ID = 2998]
3. Aand B only [Option 1D = 2999]
4. B and D only [Option 1D = 3000]

Correct Answer :-
® Aand C only [Option 1D = 2997]

43) ina Semiconductor Device cperaticn, the current continuity equations are:

=

= n‘l'un‘l"i?-ln

W

1
&l
i
-+
-
-+
o
]
g

1
Co=Cp—Up+ V]

= )
2|lF Tl =28 =g

Gn. - Un +§?' ]n
Choose the correct answer from the options given below:

[Question ID = 751][Question Description = $2_qSNz_PG_ETS_0Q43]
1. AandB only

[Option ID = 3001]
2. BandC only

[Option ID = 3002]
3. CandD only

[Option ID = 3003]
4. A and D only

[Option ID = 3004]

Correct Answer -
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# A and B only

[Option ID = 3001]

44) In JFET, the current density in the x-direction is:
A. o(x)E,
B. qNpHE,

q
2 €

C. NDU

=
Npu

D.
2 €

g

Choose the correct answer from the options given below:

[Question ID = 752][Question Description = $2_qSNz_PG_ETS_Q44]
B and C only [Option ID = 3005]
C and D only [Option ID = 3006]
A and D only [Option ID = 3007]
A and B only [Option ID = 3008]

oW =

Correct Answer :-
& BandC only [Option 1D = 3005]

45) In JFET, the transconductance in the saturation region is given by:

A R
Ve

x| 1- V—P
Z VetV
C. qNDﬂI“IT 1— V—p
" |9max VF

Choose the correct answer from the options given below:

[Question ID = 753][Question Description = 52_qSNz_PG_ETS_Q45]
4 and B only [Option ID = 3009]
B and C only [Option ID = 3010]
C and D only [Option ID = 3011]
A and D only [Option ID = 3012]

oW

Correct Answer :-
e A and B only [Option 1D = 3009]

46) Consider the system represented by y[n] = 2x[n] + 3
A. The system is linear,

B. The system is non-linear,

C. The system does not have homogeneity property.

D. The system follows the additive property.

Choose the correct answer from the options given below;

[Question ID = 754][Question Description = $2_qSNz_PG_ETS_Q46]
1. A and D only [Option ID = 3013]

2. Aand C only [Option ID = 3014]

3. Band C only [Option 1D = 3015]

4. Cand D only [Option ID = 3016]

Correct Answer :-

® Aand D only [Option 1D = 3013]
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47} Which of the following statements regarding the Fourier series are correct?
A. For an even symmetry, only sine terms exist.

B. For an even symmetry, only cosine terms exist,

C. For an odd symmetry, only cosine terms exist.

D. For an odd symmetry, only sine terms exist,

Choose the correct answer from the options given below;

[Question ID = 755][Question Description = $2_qSNz_PG_ETS_Q47]
. A and C only [Option 1D = 3017]
B and D only [Option ID = 3018]
. Cand D only [Option 1D = 3019]
. Aand D only [Option ID = 3020]

R

Correct Answer :-
& Aand C only [Option 1D = 3017]

48) Which of the following statements regarding Laplace and Fourier transforms are correct?

A. In order for a function to possess a Laplace transform, it must obey the condition

f [f)]e %dt>oc , a€Re*

B. In order for a function to possess a Laplace transform, it must obey the condition

fmif(tﬂe"“‘dt <o, a€Re*

e o}
C. For a function to have a Fourier transform, it must obey the condition f [f(D)]dt > oo

)
ol
D. For a function to have a Fourier transform, it must obey the condition f |f{)]e ~%dt < oo
—ix
Choose the correct answer from the options given below:

[Question ID = 756][Question Description = $2_qSNz_PG_ETS_0Q48]
1. Aand C only [Option 1D = 3021]
2. Band C only [Option ID = 3022]
3. Band D only [Option ID = 3023]
4. A and D only [Option 1D = 3024]

Correct Answer :-
o Aand C only [Option 1D = 3021]

49) Which of the following statements are correct?

A. Schottky barriers are established by depositing a metal, such as Tungsten, on a p-type channel.

B. The transfer characteristics of a depletion type MESFET are similar to those of a depletion type MOSFET.

C. Maximum operating conditions are determined by the product of drain-to-source voltage and drain current.
D. A complimentary MOSFET has negligibly small input impedance.

Choose the correct answer from the options given below:

[Question ID = 757][Question Description = $2_qSNz_PG_ETS_Q49]
1. Aand € only [Option ID = 3025]

2. Aand D only [Option 1D = 3026]

3. Band C only [Option ID = 3027]

4, Band D only [Option ID = 3028]

Correct Answer :-

o Aand C only [Option 1D = 3025]

50) Which of the following statements are correct?

A. A multiplier can be used as a balanced demodulator or detector.

B. Dynamic range compression is the process of reducing the peak-to-peak variation of a signal to a lower range.
C. An antilogarithmic amplifier is useful for dynamic range compression.

D. In a phase-locked loop circuit, the capture range is always larger than the lock range.
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Choose the correct answer from the options given below:

[Question ID = 758][Question Description = $2_qSNz_PG_ETS_Q50]
1. Aand B only [Option 1D = 3029]
2. Aand C only [Option 1D = 3030]
3. Band C only [Option ID = 3031]
4, Band D only [Option ID = 3032]

Correct Answer ;-
o A and B only [Option ID = 3029]

51) A single bit comparator compares two numbers A and B and produces three outputs
Y (if A = B), Y2 (if A > B) and Y3(if A < B) as given below:
A Y,=A®B;Y,=AB;Y;=AB
B.Y,=A®B;Y,=AB;Y,=AB
C.Y,=A+B;Y,=A®B;Y,=A0OB
D.Y,=AB+AB;Y,=AB;Y,=AB

Choose the correct answer from the options given below:

[Question ID = 759][Question Description = $2_qSNz_PG_ETS_0Q51]
1. Aand B only [Option ID = 3033]

2. A, B and C only [Optien ID = 3034]

3. A, Cand D only [Option ID = 3035]

4, A and D only [Option ID = 3036]

Correct Answer :-
e« Aand B only [Option ID = 3033)

52) For a JK Flip-flop
AWhenJ=0,K=1,Q,.1=0
B. WhenJ=1,K=1, Qn:1=1

C. WhenJ=1,K=1, OQni=q
D.WhenJ=1,K=0, Qni1=1
E.WhenJ=1,K=0,Qnvi=0

Choose the correct answer from the options given below:

[Question ID = 760][Question Description = 52_qSNz_PG_ETS_Q52]
1. A, Cand E only

[Option ID = 3037]
2. Band D only

[Option ID = 3038)
3. CandEonly

[Opticn ID = 3039]
4. A, Cand D only

[Option 1D = 3040]

Correct Answer :-
e A CandEonly

[Option ID = 3037]

53) Which of the following is/are NOT processor control instructions?
A, STC
B, CMC
C. JNO
D. NOP
E. CWD

Choose the correct answer from the options given below:
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[Question ID = 761][Question Description = 52_qSNz_PG_ETS_Q53]

1. A, B and E only [Option ID = 3041]
2. Cand E only [Option ID = 3042)]
3. Cand D only [Option 1D = 3043]

4, D and E only [Option ID = 3044]

Correct Answer :-
a A, B and E only [Option 1D = 3041]

54) Which of the following are the major steps which are taken to troubleshoot a microcomputer system? Assume all ICs are

in the socket.

A. ldentify the symptoms and make a careful visual and tactical inspection.

B. Check the power supply.

C. Switch OFF and ON the system,

D. Check the control signals such as

RD, WR, ALE, RDY and RESET

Choose the correct answer from the options given below:

[Question ID = 762][Question Description = $2_qSNz_PG_ETS_Q54]

1. Aand Conly

[Option ID = 3045]
2. A, BandDonly

[Option ID = 3046]
3. A, Band Conly

[Option ID = 3047]
4, Cand D only

[Option ID = 3048]

Carrect Answer :-

¢ AandConly

[Option ID = 3045]

[Question ID = 763][Question Description = $2_qSNz_PG_ETS_Q55]
4 and D only [Option ID = 3049]
B and D only [Option ID = 3050]
B and C only [Option ID = 3051]
B and E only [Option ID = 3052]

R

For small loop antennas:

o, = 120 ’sin® A
-Edp = > il
r Az

120 w?[I] sin@ A

MR —
C. f, = Tr[I]rsinB %

D. Hy = ; sin E%

Ef, = 12?“2 [I]Sin'e;—z

Choose the correct answer from the options given below:

Carrect Answer :-
* A and D only [Option 1D = 3049]

56) In 60-degrees PWM inverter power supply,
A. Power devices are made "ON' for 1/3 of the cycle.
B. Power devices are made 'OFF" for 1/3 of the cycle.

C. The phase voltage = 0.57735 Vsypply.

D. Line voltage = Vsupply.

E. Line voltage < Vsypply.

prepp
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Choose the correct answer from the options given below:

[Question ID = 764][Question Description = 52_qSNz_PG_ETS_Q56]
B, C and E only [Option ID = 3053]

C and D only [Option ID = 3054]

B, C and D only [Option 1D = 3055]

A, Cand D only [Option ID = 3056]

oWk b2 o

Correct Answer :-
a B, C and E only [Option ID = 3053]

57) Broadside arrays have

A. Number of dipoles of unequal size

B. Number of dipcles equally spaced

C. Collinear dipoles

D. Dipoles in phase

E. Dipoles are 90° out of phase

Choose the correct answer from the options given below:

[Question ID = 765][Question Description = $2_qSNz_PG_ETS_0Q57]
1. Aand B only

[Option ID = 3057]
2. A, Cand Eonly

[Option ID = 3058]
3. B, Cand E only

[Option ID = 3059]
4. B, Cand D only

[Option ID = 3060]
Correct Answer ;-
o AandBonly
[Option ID = 3057]

58)  Following equations are given for retarded time-varying fields
A V2V =—p/e + wipeV
B. V&V =p/e + wlpeV
C. V’A = —pJ] + w?pe]
D. V2A = p] + w?pe]
Choose the correct answer from the options given below:

[Question ID = 766][Question Description = 52_qSNz_PG_ETS_Q58]
1. Aand D only [Option 1D = 3061]
2. Aand C only [Option 1D = 3062]
3. Band C only [Option ID = 3063]
4. Band D enly [Option ID = 3064]

Carrect Answer :-
# A and D only [Option ID = 3061]

59) Which of the following statements are correct?

A, DSB-SC modulation is well suited for point to point communication involving one transmitter and one receiver.
B. VSB modulation is a linear modulation scheme.

€. SSB is a non-linear modulation scheme.

D. FM is a linear modulation scheme.

Choose the correct answer from the options given below:

[Question ID = 767][Question Description = 52_qSNz_PG_ETS_Q59]
1. Aand B only [Option ID = 3065]
2. Aand C only [Option 1D = 3066]
3. BandC only [Option ID = 3067]
4. Band D only [Option ID = 3068]
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Correct Answer :-
# A and B only [Option ID = 3065]

60) Which of the following statements are correct?

A. M-ary modulation scheme is preferable where the bandwidth requirement is important.
B. M-ary P5K system considers 'M' different phases in the range 'n/2'.

C. In M-ary modulation scheme, only coherent detection is possible,

D. M-ary QAM scheme uses ‘'m? carrier signals having the same frequency,

Choose the correct answer from the options given below:

[Question ID = 768][Question Description = $2_qSNz_PG_ETS_Q60]
1. A and B only [Option 1D = 3069]
2. Aand € only [Option 1D = 3070]
3. Band C only [Option ID = 3071]
4, Cand D only [Option 1D = 3072]

Correct Answer :-
« A and B only [Option ID = 3069]

61) Which of the following statements are correct?

A. If the intermediate frequency is too high, poor selectivity results even if sharp cutoff filters are used in the IF stage.
B. A high value of intermediate frequency increases tracking difficulties.

C. As the intermediate frequency is lowered, image frequency rejection becomes better,

D. A very low intermediate frequency can make the selectivity too sharp.

Choose the correct answer from the options given below:

[Question ID = 769][Question Description = $2_qSNz_PG_ETS_Q61]
1. Aand B only [Option 1D = 3073]
2. Band C only [Option 1D = 3074]
3. Cand D only [Option ID = 3075]
4. Band D only [Option ID = 3076]

Correct Answer :-
« A and B only [Option ID = 3073]

62) Adiacis

A. a two elecrode, bidirectional avalanche diode,

B. a device which conducts below the breakover voltage.
C. a unidirectional resistive device,

D. designed to supply large gate current.

E. used to supply the voltage to the motors,

Choose the correct answer from the options given below:

[Question ID = 770][Question Description = $2_qSNz_PG_ETS_Q62]
1. A, B and C only [Option ID = 3077]

2. A, Cand D only [Option ID = 3078]

3. Aand D only [Option ID = 3079]

4. A, B and E only [Option ID = 3080]

Correct Answer :-
¢ A, Band C only [Option ID = 3077]

63) Response time of photodiode has
A. dependance on transit time.
B. dependance on diffusion time.

C. RC time constant dependance.

W

D.ty=—
Vg
Yy

E'td__
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Choose the correct answer from the options given below:

[Question ID = 771][Question Description = $2_qSNz_PG_ETS_Q63]
1. A, B, € and D only [Option (D = 3081]
2. B, Cand E only [Option ID = 3082]
3. Aand B only [Option ID = 3083]
4, A, C, and E only [Option ID = 3084]

Correct Answer :-
e A, B, CandD only [Option D = 3081]

64) Which of the following statements are correct?

A. For dynamic measurements using resistance strain gauges, temperature compensation is not necessary.
B. Eddy current type of transducer gives an output proportional to velocity.

C. A variable capacitance type transducer gives an output proportional to acceleration.

D. A piezoelectric transducer cannot be used to measure static variables.

Choose the correct answer from the options given below:

[Question ID = 772][Question Description = $2_qSNz_PG_ETS_Q64]
A and B only [Option ID = 3085]
B and O only [Option ID = 3086]
B and C only [Option ID = 3087]
A and D only [Option 1D = 3088]

o R

Correct Answer :-
® A and B only [Option ID = 3085]

65) Which of the following statements are correct?

A. Ultrasonic method for liquid level measurement is not preferred in industrial applications.
B. In a pH meter, the glass electrode is the reference electrode.

C. A chromatograph is used for analysing the composition of a gas.

D. The production of Korotkoff sounds in indirect blood pressure measurement is due to pressure pulses produced due to the
difference in systolic and diastolic blood pressure.

Choose the correct answer from the options given below:

[Question ID = 773][Question Description = $2_qSNz_PG_ETS_Q65]
1. Aand C only [Option ID = 3089]
2. Band C only [Option ID = 3090]
3. Band D only [Option ID = 3091]
4. C and D only [Option ID = 3092]

Carrect Answer :-
# A and C only [Option 1D = 3089]

66) Match List | with List 1l

List | List Il
L

A. |deal MIS diode {n-type) . o
5

B. Extrinsic Debyelength (hole}

C. Field dependent mobility

D. Transit time for velocity W K
saturation Pms = bm — (x + Eﬁ - “PB)

Choose the correct answer from the options given below:

[Question ID = 774][Question Description = 52_qSNz_PG_ETS_Q66]
1. A-IV,B-1I,C-1, D-1[Option ID = 3093]

2. A-1,B-IV,C-1,D- 1l [Option ID = 3094]

3, A-ILB-1,C-1V, D-1[Option ID = 3095]

4, A-N,B-1,C-1, D- ¥ [Option ID = 3096])

Correct Answer :-

a A-IV,B-I,C-Il, D-I[Option I3 = 3093]
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67) Match List | with List [l

List |

IList 1

A, Diffusion

I. PMMA

B. Oxidation

|II. Proximity Printing

C. UV Resist

aCx.t _ AJ(x,1)

ot

ox

D. X-ray Lithography [IV. Deal and Grove's Model|

Choose the correct answer from the options given below;

[Question ID = 775][Question Description = $2_qSNz_PG_ETS_Q67]
1. A=, B -1, C-IV,D-I[Option ID = 3097]
2. A-ll,B-1V,C-1,D - Il [Option ID = 3098]
3. A-I¥,B-1,C-Ii, D- Il [Option ID = 3099]
4. A-1,B-1I,C-INIl, D- IV [Option ID = 3100]

Carrect Answer :-

® A-1l,B-1ll,C- 1V, D-I[Option ID = 3097]

68) Match List | with List Il

List |

List 1l

Filters

Frequency Response

A. Low Pass Filter

Naain

V
| |

1

f

B. High Pass Filter

1

Galn

/N

A
fi fh f
A Gain
1
C. Band Pass Filter |lIl. | \I
fi, f
™ Gain
1
D. Band Reject, I’/’f—
Filter '
Ny
P
f f

Choose the correct answer from the options given below:

[Question ID = 776][Question Description = $2_qSNz_PG_ETS_0Q68]
1. A-1l, B-1ll, C-1¥, D-1[Option ID = 3101]
2. A-1,B-1, C-1v, D-lll [Option ID = 3102]
3. A-NI,B-1IV,C-1, D-ll[Option ID = 3103]
4, A-NLB-1v, C-1l, D-1[Option ID = 3104]

Correct Answer -

e A-Il,B-1II,C-1V,D-I[Option ID = 3101]

prepp
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69) Match List | with List I

List | List Il
JFET - Bias Characteristic Equation
A. Self-bias I Iy = @
S
B. Voltage-divider T Vee~ Vee
bias D Re
C. Source bias . Vgg= —IpRg
D. Current-source W= Ve~ Vas
bias - Rg

Choose the correct answer from the options given below:

[Question ID = 777][Question Description = $2_qSNz_PG_ETS_0Q69]
1. A-NI,B-1¥, C-1l, D-I[Option ID = 3105]

2. A-1,B-I1,C-1Il, D- ¥ [Option ID = 3106]

3, A-I,B-I¥,C-1,D -1l [Option ID = 3107]
4, A-NI,B-1¥,C-1,D-1I[Option ID = 3108)
Correct Answer :-

o A-Jl,B-1¥,C-Il, D-I[Option ID = 3105]

70) Match List | with List 1l

List | List Il
Logic gate Truth table
A|B |F
0 |o |1
A.Negative OR | |0 |1 |0
1|0 |0
1|10
A |B|F
B. Exclusive 0 1011
I.1o |1 |1
i1(11]0
A|B |F
0 |lo |1
C.Exclusive OR |lll. |0 |1 |0
1 |o|o
1 |1 |2
V.
A|B |F
D. Negative AND @ 1010
0|1 |1
1]0 |1
1|10

Choose the correct answer from the options given below:

[Question ID = 778][Question Description = $2_qSNz_PG_ETS_Q70]
1. A-1,B-Il,C-1¥, D -1 [Option ID = 3109)
2. A-I¥,B-1,C-Il,D- Il [Option ID = 3110]
3. A-1,B-1¥, C-Il,D -l [Option ID = 3111]
4, A-1,B -1, C- IV, D-I|[Option ID = 3112]

Carrect Answer :-
o A-1,B-Il,C-I¥, D-Ill[Option ID = 3109]

71) Match List | with List [I

List | List Il

Content of register A

A I
semply code after the code

A, MOV A, #37H
CPL A

1. 02




www.prepp.in

B. MOV A, #37H
Il. FFH

ANL A, #0CAH

C. MOV A, #37H
. FOH

ORL A, #0CAH

D. MOV A, #37H
V. C8H

XRL A, #0CAH

Choose the correct answer from the options given below:

[Question ID = 779][Question Description = $2_qSNz_PG_ETS_Q71]

1. A-IV,B-N,C-1,D-1

[Option ID = 3113]

2. A-LB-ILC-UL,D-I¥

[Option ID = 3114]

3. A-IV,B-1,C-1ll,D-1

[Option ID = 3115]

4. A-IV,B-1,LC-Il,D-1I

[Option ID = 3116]

Carrect Answer :-

o A-IV,B-N,C-1,D-1

[Option ID = 3113]

prepp
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72) Match List | with List [l

List |

IList 1

US New Military Bands for Micr«::*np'wa'..ﬂeks!Fne.-n::|u~\e.-n<:}.rr range in GHz

A. H band I. 2.000-3.000 GHz

B. J band 1. 4.000-6.000 GHz

C. G band In. 6.000-8.000 GHz
D. E band IV. 10.000-20.000 GHz

Choose the correct answer from the options given below:

[Question ID = 780][Question Description = 52_qSNz_PG_ETS_Q72]

1, A-1,B-1ll, C- I, D- IV [Option ID = 3117]
2, A-IIl,B-1IV, C-Il, D-I[Option ID = 3118)
3. A-1,B-11,C-ll, D- IV [Option ID = 3119]
4. A-1,B-1,C-I¥,D-I[Option ID = 3120]

Carrect Answer :-

® A-1,B-1ll, C-Il,D-IV[Option ID = 3117]

73) Match List | with List [I

List | |List I

A. FDMA

l. Frequency Hopping

B. TDMA

Il. Guard Band

C. CDMA

. Onboard Switching

D. SDMA |IV. Guard Time

Choose the correct answer from the options given below:

[Question ID = 781][Question Description = $2_qSNz_PG_ETS_Q73]

1. A-1I,B- IV, C-1,D- Il [Option ID = 3121]
2. A-IV,B-1l,C-1ll, D- I [Option ID = 3122]
3. A-IV,B-1I,C-1,D- Il [Option ID = 3123]
4, A-1,B-1,C-1lI, D-IV[Option ID = 3124]

Correct Answer :-

e A-ILB-IV,C-1,D-

Il [Option ID = 3121)

74) Match List I with List Il
List | List 11
f(t) F(S)
S
A fea——s
§2 + w2
w
B. tadt I,
52+ w?
i,
~ cingt 1
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(s—a)
D. i 1
coswt (s+a)

Choose the correct answer from the options given below:

[Question ID = 782][Question Description = $2_qSNz_PG_ETS_Q74]
A-1,B-1l,C-1V, D -l [Option ID = 3125]
A-ll,B-1,C-1,D- IV [Option ID = 3126]
A-IV,B-1ll, C-1,D -1l [Option ID = 3127]
A-IV,B-1ll, C-1l, D-1[Option ID = 3128]

oW =

Correct Answer :-
e A-1,B-Il,C-I¥, D- Il [Option ID = 3125]

75) Match List | with List [l

List | List Il
Performance i inition
Characteristic

I. Nearness of indicated value to the true value of the

A. Correction ) )
quantity being measured

B. Precision Il. Opposite of error

lll. Closeness with which the same value of input quantity

C. Accurac ; _
y is measured under different conditions

D. IV. Degree of refinement with which a measured value is
Reproducibility |stated

Choose the correct answer from the options given below:

[Question ID = 783][Question Description = $2_qSNz_PG_ETS_Q75]
1. A-IV,B-1,C-1l,D- I

[Option ID = 3129]
2, A-I,B-1,C-1V,D-1l

[Option ID = 3130]
3. A-1L,B-1¥,C-1,D-1

[Option ID = 3131]
4, A-N,B-1,C-1V,D-1

[Option ID = 3132]

Correct Answer :-

e A-IV,B-1,C-Il,D-1I
[Option ID = 3129]

76) Arrange the following in ascending order of their conductivity.
A. Silicon dioxide

B. Intrinsic Silicon

C. Extrinsic Silicon

D. Aluminium

Choose the correct answer from the options given below

[Question ID = 784][Question Description = $2_qSNz_PG_ETS_0Q76]
1. A, B, C, D [Option ID = 3133]
2. B, C, D, A[Option ID = 3134]
3. C,D, A, B [Option ID = 3135]
4, D, A, B, C [Option ID = 3136)

Correct Answer :-
o A, B, C,D[Option ID=23133]

77) Arrange the following in ascending order of their bandgap (at -300K)
A. GaN

B. GaP

C. GaAs
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D. Si
Choose the correct answer from the options given below

[Question ID = 785][Question Description = $2_qSNz_PG_ETS_Q77]
1. D, C, B, A [Option ID = 3137]
2. C,D, A, B [Option ID = 3138]
3. B, A, C, D [Option ID = 3139]
4, A, B, D, C [Option ID = 3140

Correct Answer :-
a [, C, B, A[Option ID =3137]

1

78) Consider the following circuits and arrange them in ascending order of their complexity.
A. First order low pass filter

B. Sallen-Key filter

C. Fourth order Butterworth low pass filter

D. Non-inverting amplifier

Choose the correct answer from the options given below

[Question ID = 786][Question Description = $2_qSNz_PG_ETS_0Q78]
1. D, A, C, B [Option ID = 3141]
2. D, A, B, C [Option ID = 3142]
3. C, B, A, D [Option ID = 3143]
4, B, C, D, A [Option ID = 3144]

Correct Answer :-
e D, A C, B [Option ID = 3141]

79) Arrange the following components of dual-slot integrating A/D converter in order of their appearance while moving
from input to output stage.

A, Comparator

B. Control

C. Integrator

D, Counter

Choose the correct answer from the options given below

[Question ID = 787][Question Description = $2_qSNz_PG_ETS_Q79]
1. C, A, D, B [Option ID = 3145]
2. C, A, B, D [Option ID = 3146]
3. C, B, A, D [Option ID = 3147]
4. C, D, A, B [Option ID = 3148]

Correct Answer :-

e (, A, D, B [Option ID = 3145]

80) A number may be represented in various number systems. Arrange the following number systems in ascending order
based on the number of bits needed to represent the same number.

A. Binary

B. Decimal

C. Hexadecimal

D. Octal

Choose the correct answer from the options given below

[Question ID = 788][Question Description = 52_q5SNz_PG_ETS_QB0]
1. D, A, B, C [Option ID = 3149]
2. B, C, A, D [Option ID = 3150]
3. C, B, D, A[Option ID = 3151)]
4, A, B, C, D [Option ID = 3152]

Correct Answer :-
o D, A B, C[Option ID = 3149]

81) Arrange the different operations to run instructions in a computer system, from the beginning to last stage
A. Instruction decode

B. Instruction fetch
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C. Operand fetch
D. Execute
Choose the correct answer from the options given below

[Question ID = 789][Question Description = $2_qSNz_PG_ETS_0Q81]
A, B, C, D [Option ID = 3153]
B, A, C, D [Option ID = 3154]
C, D, A, B [Option ID = 3155]
D, B, C, A [Option ID = 3156]

N N VN S Y

Correct Answer :-
a A, B, C,D[Option ID=3153]

82) Arrange the following antennas in ascending order of their radiation resistance.
A. short dipole (L =/, 0)(la = 1)
B. Short dipole (L = ?*,/w)(lav = 1,/2)
C. Linear 1/2 dipole (sinusoidal current distributicon)
D. Small Loop (square loop) single turn c:-f(L - }Lfrlﬂ)

Choose the correct answer from the options given below

[Question ID = 790][Question Description = $2_qSNz_PG_ETS_Q82]
1. B, D, A, C [Option ID = 3157]
2. C, B, A, D [Option ID = 3158]
3. D, B, A, C [Option ID = 3159]
4. B, D, C, A [Option ID = 3160]

Correct Answer -
e B, D, A, C [Option ID = 3157]

83) Arrange the following modulation systems in decreasing order of the bandwidth requirements,
A, Single Side Band

B. Double Side Band

C. Vestigial Side Band

D. Frequency Modulation

Choose the correct answer from the options given below

[Question ID = 791][Question Description = $2_qSNz_PG_ETS_Q83]
1. A, C, D, B [Option ID = 3161]
2. C, A, B, D [Option ID = 3162]
3. D, B, A, C [Option ID = 3163]
4. D, B, C, A [Option ID = 3164]
Correct Answer :-
e A, C,D,B [Option ID = 3161]

84) Arrange the following system types in ascending order of their intersection with 0 dB axis.
A, Type N system

B. Type 3 system

C. Type 2 system

D. Type 4 system

Choose the correct answer from the options given below

[Question ID = 792][Question Description = $2_qSNz_PG_ETS_Q84]
1. A, D, B, C [Option ID = 3165]
2. C, B, D, A [Option ID = 3166]
3. C, B, A, D [Option ID = 3167]
4. D, C, B, A [Option ID = 3168]

Correct Answer :-
e A, D, B, C [Option ID = 3165]

85) Arrange the following manometric liquid in ascending order of their specific gravity at 20" C,
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A, Water

B. Carbon tetrachloride

C. Transformer Oil

D. Mercury

E. Dibutylphthalate

Choose the correct answer from the options given below

[Question ID = 793][Question Description = $2_qSNz_PG_ETS_0Q85]
1.04;:€, B, E;D

[Option ID = 3169]
2. A,D,B,C,E

[Option ID = 3170]
3. C,AE B,D

[Option ID = 3171]
4. B,C,AE D

[Option ID = 3172]
Correct Answer ;-
« A C B ED
[Option ID = 3169]

86) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: When MOSFET is in conductive state, the saturation current flow after the channel is pinchedoff.
Reason R: The substrate bias affects the threshold voltage of a MOSFET,

In light of the above statements, choose the most appropriate answer from the options given below

[Question ID = 794][Question Description = 52_qSNz_PG_ETS_QB86]
1. Both A and R are correct and R is the correct explanation of A

[Opticn ID = 3173]
2. Both A and R are correct but R is NOT the correct explanation of A

[Option ID = 3174]
3. Ais correct but R is not correct

[Option ID = 3175]
4. Ais not correct but R is correct

[Option ID = 3176]
Correct Answer :-
# Both A and R are correct and R is the correct explanation of A

[Option ID = 3173]

87) Given below are two statements

Statement I: The scaling theorem relates scale changes in frequency domain to the consequent changes in scale in the time
domain.

Statement |l: The scaling theorem is not applicable to an impulse signal.
In light of the above statements, choose the correct answer from the options given below

[Question ID = 795][Question Description = 52_q5SNz_PG_ETS_QB87]
1. Both Statement | and Statement |l are true [Option D = 3177]

2. Both Statement | and Statement [l are false [Option ID = 3178)]

3. Statement | is true but Statement Il is false [Option 1D = 3179]

4. Statement | is false but Statement Il is true [Option ID = 3180]

Correct Answer :-

& Both Statement | and Statement Il are true [Option 1D = 3177]

88) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: A reflex Kklystron is a single cavity high power generator of efficiency 90%.

Reason R: The loop gain is unity with a phase shift of multiple of 2m.

In light of the above statements, choose the most appropriate answer from the options given below

[Question ID = 796][Question Description = 52_qSNz_PG_ETS_QB88]
1. Both A and R are correct and R is the correct explanation of A

[Option ID = 3181]
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| 2. Both A and R are correct but R is NOT the correct explanation of A

[Option ID = 3182]
3. Ais correct but R is not correct

[Option ID = 3183]
4, Ais not correct but R is correct

[Option ID = 3184]
Correct Answer ;-
# Both A and R are correct and R is the correct explanation of A

[Option ID = 3181]

89) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: Major advantage of DRAM is that the capacitor cell never loses its charge and hence there is no need to refresh
periodically.

Reason R: When DRAM is being refreshed, the data cannot be accessed.
In light of the above statements, choose the correct answer from the options given below

[Question ID = 797][Question Description = $2_qSNz_PG_ETS_Q89]

1. Both A and R are true and R is the correct explanation of A

[Option ID = 3185]
2. Both A and R are true but R is NOT the correct explanation of A

[Option ID = 3186]
3. Afs true but R is false

[Option ID = 3187]
4, Ais false but R is true

[Option ID = 3188]
Correct Answer :-
# Both A and R are true and R is the correct explanation of A

[Option ID = 3185]

90) Given below are two statements

Statement I: By bringing together the computational capability of microelectronics with the perception and control
capabilities of microminiaturized sensors and actuators, MEMS technologies are enabling smart systems on a chip to be mass-
produced.

Statement II: While considering loT deployment, data integrity and authenticity are no more security concerns at the sensor
node level.

In light of the above statements, choose the correct answer from the options given below

[Question ID = 798][Question Description = $2_qSNz_PG_ETS_Q90]
Both Statement | and Statement |l are true [Option D = 3189]
Both Statement | and Statement Il are false [Option 1D = 3190]
. Statement | is true but Statement Il is false [Option 1D = 3191]
. Statement | is false but Statement Il is true [Option 1D = 3192]

e it BRI

Correct Answer :-
&« Both Statement | and Statement 1l are true [Option 1D = 3189]

Topic:- ElectSci_SHAAN_NOVZ1B

1) Read the passage given below and answer the question

The Metal Oxide Semiconductor Field Effect Transistor (MOSFET) is the most important device at the forefront of high-
density integrated circuits such as microprocessors and semiconductor memories. It is also becoming an important power
device. The principle of the surface field-effect transistor was first proposed in the 1930s and the first MOSFET was
reported in 1960 using the 5i-Si02 system. The current in MOSFET 1s transported by carriers of one polarity only and hence
it is usually referred to as a unipolar device, Although MOSFETs have been made with various semiconductors, such as Ge,
Si, and GaAs and use various insulators such as $i0z, SizsNgs and Al:03, the most important system is 5i-Si0.

The drain current density including both drift and diffusion component is given by:

[Question ID = 799][Question Description = $2_qSNz_PG_ETS_0Q91]
1. qun.nEy—anVn

[Option ID = 3193]
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-z gnE,+qD,V,
[Option ID = 3194]
3. qnp,+qD,V,

[Option ID = 3195]
4. qun.nEy+ ab,V,

[Option ID = 3196]

Correct Answer :-
. qun.nEy—anVn
[Option ID = 3193]

2) Read the passage given below and answer the question

The Metal Oxide Semiconductor Field Effect Transistor (MOSFET) is the most important device at the forefront of high-
density integrated circuits such as microprocessors and semiconductor memories, It is also becoming an important power
device. The principle of the surface field-effect transistor was first proposed in the 1930s and the first MOSFET was
reported in 1960 using the 5i-Si0; system. The current in MOSFET is transported by carriers of one polarity only and hence
it is usually referred to as a unipolar device. Although MOSFETs have been made with various semiconducters, such as Ge,
Si, and GaAs and use various insulators such as $i03, SizNg and Alz03, the most important system is 5i-5i04.

The threshold voltage under idealised conditions is:

[Question ID = 800][Question Description = $2_qSNz_PG_ETS_Q92]
1. ¥r= 2[_[}B

[Option ID = 3197]

o 28caN,

G

[Option ID = 3198]

V 2£:aN,wg)
G

V= Qg+

[Option ID = 3199]

i, sy NFTR ()

b
G Ve

[Option ID = 3200]

Carrect Answer :-

. ."'Lf=2l.pB

[Option ID = 3197]

3) Read the passage given below and answer the question

The Metal Oxide Semiconductor Field Effect Transistor (MOSFET) is the most important device at the forefront of high-
density integrated circuits such as microprocessors and semiconductor memories. It is also becoming an important power
device. The principle of the surface field-effect transistor was first proposed in the 19305 and the first MOSFET was
reported in 1960 using the 5i-5i0; system, The current in MOSFET is transported by carriers of one polarity only and hence
it is usually referred to as a unipolar device. Although MOSFETs have been made with various semiconductors, such as Ge,
Si, and GaAs and use various insulators such as 5i0;z, SizNs and Al;03, the most important system is 5i-5i0;,

The channel resistance of an elemental section dy is

[Question ID = 801][Question Description = 52_qSNz_PG_ETS_Q93]
T dy
iy

[Option ID = 3201]
dy

Z 1| Q)

[Option ID = 3202]
, _dy

1Q, )| 2
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[Option ID = 3203]

_ @y

HalQn(y)|

[Option ID = 3204]

Carrect Answer :-
dy

ZH,

[Option ID = 3201]

4) Read the passage given below and answer the question

The Metal Oxide Semiconductor Field Effect Transistor (MOSFET) is the most important device at the forefront of high-
density integrated circuits such as microprocessors and semiconductor memories, It is also becoming an important power
device. The principle of the surface field-effect transistor was first proposed in the 1930s and the first MOSFET was
reported in 1960 using the 5i-Si0; system. The current in MOSFET is transported by carriers of one polarity only and hence
it is usually referred to as a unipolar device. Although MOSFETs have been made with various semiconducters, such as Ge,
Si, and GaAs and use various insulators such as $i03, SizNg and Alz03, the most important system is 5i-Si04.

In n-channel MOSFET, the charge induced in the inversion layer per unit area at a distance y from the source is:

[Question ID = 802][Question Description = $2_qSNz_PG_ETS_0Q9%94]
1. Quy) = Vg +wsy)] C—Qgly)

[Option ID = 3205]
2. Q(v)=—-Vg—wCi—Qgly)

[Option ID = 3206]
3. Qly) = — Vg~ w1 G+ Qgly)

[Option ID = 3207]
4. Q. (y)= - Vg +w ] C;+ Qpy)

[Option ID = 3208]
g e
* Q,(¥)=[ag+w ] C—Qply)

[Option ID = 3205]

5) Read the passage given below and answer the question

The Metal Oxide Semiconductor Field Effect Transistor (MOSFET) is the most important device at the forefront of high-
density integrated circuits such as microprocessors and semiconductor memories. It is also becoming an important power
device. The principle of the surface field-effect transistor was first proposed in the 19305 and the first MOSFET was
reported in 1960 using the 5i-5i0; system, The current in MOSFET is transported by carriers of one polarity only and hence
it is usually referred to as a unipolar device. Although MOSFETs have been made with various semiconductors, such as Ge,
Si, and GaAs and use various insulators such as SiQ3, SizNs and Alz03, the most important system is $i-5i0;.

The one dimensional Poisson equation for the surface space charge region at the drain is:

[Question ID = 803][Question Description = $2_qSNz_PG_ETS_Q95]

Ay q

1. = - NoF—N,~+p-n
32 Es( D A TP )
[Option ID = 3209]
Py q

2. =L =—L (Nt +N,~—p-n
92 Es( D s P )
[Option ID = 3210]
Ay q

=———(N,~—Ny*-p-n
£ Es( A p —P )
[Option ID = 3211]
2
4 QW _ 9 (- Ng*epon)

a2 €,
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[Option 1D = 3212]
Carrect Answer :-

2
Y (Np*=Np~+p-n)
ES

i

[Option ID = 3209]

Topic:- ElectSci_SHAAN_NQV21C

1) Read the passage given below and answer the question

One very common use of filters is bandwidth limiting. Analog filter implementation consists of two categories: passive and
active, The active filters are further classified as high-pass, low-pass, band-pass, band-reject and all-pass. Butterworth and
Chebyshev are commonly used practical filters. The key characteristic of Butterworth filter is that it has a flat passband and
stopband. The practical limit for most RC active filters is close to 30 kHz, The Chebyshev response is referred to as an
equiripple response because passband is characterised by a series of ripples that have equal maximum levels and equal
minimum levels besides exhibiting flat stpoband.

Which of the following statements is NOT correct for a Chebyshev Filter?

[Question ID = 804][Question Description = $2_qSNz_PG_ETS_Q96]
1. Chebyshev filter tends to exhibit ringing effect with transient signals.

[Option ID = 3213]
2. Time delay and phase characteristics of Chebysheyv filter are comparitively better than that of Butterworth filter.

[Option ID = 3214]
3. Chebyshev filters have a sharper slope than Butterworth filters.

[Option ID = 3215]
4. Chebyshev filters are capable of achieving more attenuation in stopband.
[Option ID = 3216]

Correct Answer :-
# Chebyshev filter tends to exhibit ringing effect with transient signals.

[Option ID = 3213]

2) Read the passage given below and answer the question

One very common use of filters is bandwidth limiting. Analog filter implementation consists of two categories: passive and
active. The active filters are further classified as high-pass, low-pass, band-pass, band-reject and all-pass. Butterworth and
Chebyshev are commonly used practical filters. The key characteristic of Butterworth filter is that it has a flat passband and
stopband. The practical limit for most RC active filters is close to 30 kHz, The Chebyshev response is referred to as an
equiripple response because passband is characterised by a series of ripples that have equal maximum levels and equal
minimum levels besides exhibiting flat stpoband,

Which of the following statements is NOT correct about Butterworth filter?

[Question ID = 805][Question Description = 52_q5SNz_PG_ETS_Q97]
1. Butterworth is the most popular alignment type.

[Opticn ID = 3217]
2. Butterweorth is characterised by its moderate amplitude and phase response.

[Option ID = 3218)
3. It exhibits the slowest roll-off of any monoatomic (single-slope) filter.

[Option ID = 3219]
4. This is the only filter whose 3dB down frequency equals its critical frequency (fiqg=Fc).

[Option 1D = 3220]
Correct Answer :-
& Butterworth is the most popular alisnment type.

[Option ID = 3217]

3) Read the passage given below and answer the question

One very common use of filters is bandwidth limiting. Analog filter implementation consists of two categories; passive and
active. The active filters are further classified as high-pass, low-pass, band-pass, band-reject and all-pass. Butterworth and
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Chebyshev are commonly used practical filters. The key characteristic of Butterworth filter is that it has a flat passband and
stopband. The practical limit for most RC active filters is close to 30 kHz, The Chebyshev response is referred to as an
equiripple response because passband is characterised by a series of ripples that have equal maximum levels and equal
minimum levels besides exhibiting flat stpoband.

A filter is needed to remove induced 60 Hz hum from a transducer signal. The rejection bandwidth is 2 Hz. The correct
combination of Rgamping and C values for this filter are:

[Question ID = 806][Question Description = $2_qSNz_PG_ETS_Q98]
1. 300, 32.5 milli Farads
[Optian ID = 3221]

2. 68 0, 30.5 milli Farads
[Option ID = 3222)]

3. 820, 3.25 milli Farads
[Option ID = 3223]

4. 89 (, 2.65 milli Farads
[Option ID = 3224]

Correct Answer :-

# 300, 32.5 milli Farads
[Option ID = 3221]

4) Read the passage given below and answer the questions that follow

One very common use of filters is bandwidth limiting. Analog filter implementation consists of two categories: passive and
active. The active filters are further classified as high-pass, low-pass, band-pass, band-reject and all-pass. Butterworth and
Chebyshev are commonly used practical filters. The key characteristic of Butterworth filter is that it has a flat passband and
stopband. The practical limit for most RC active filters is close to 30 kHz, The Chebyshev response is referred to as an
equiripple response because passband is characterised by a series of ripples that have equal maximum levels and equal
minimum levels besides exhibiting flat stpoband,

The characteristic equation for the output voltage of an All-pass filter is given by:

[Question ID = 807][Question Description = 52_qSNz_PG_ETS_Q99]

T~v=v(1+ 2 J
9: i 2TiRG

[Option ID = 3225]
i ‘szvin(—H

12TiRC )

[Option ID = 3226]

3. v =v [_1 +#]
e in 2TERC + 1

[Option ID = 3227]
4. v,,=vin[1 + m)
[Option ID = 3228]
{;ormct hnswer R —
® Vo= v'“(1 T2 nz;RC J

[Option ID = 3225]

5) Read the passage given below and answer the questions that follow

One very common use of filters is bandwidth limiting. Analog filter implementation consists of two categories: passive and
active. The active filters are further classified as high-pass, low-pass, band-pass, band-reject and all-pass. Butterworth and
Chebyshev are commonly used practical filters. The key characteristic of Butterworth filter is that it has a flat passband and
stopband. The practical limit for most RC active filters is close to 30 kHz, The Chebyshev response is referred to as an
equiripple response because passband is characterised by a series of ripples that have equal maximum levels and equal
minimum levels besides exhibiting flat stpoband.

Which of the following statements are correct for active filters?
A. Multiple feedback are preferred for g < 1¢.

B. For Q = 10, state variable filter is used.
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C. The upper and lower cut-off frequencies have arithmetic symmetry about centre frequency f. for smaller Q values.

D. As Q is increased, the filter becomes less selective and both upper and lower cut-off frequencies approximate geometric
symmetry,

Choose the correct answer from the options given below:

[Question ID = 808][Question Description = $2_qSNz_PG_ETS_Q100]
1. Aand B only

[Option ID = 3229]
2. Aand Conly

[Option ID = 3230]
3. Band C only

[Option ID = 3231]
4, CandD only

[Option ID = 3232]

Correct Answer :-

& AandB only
[Option ID = 3229]

Topic:- GP_Set8_A

1) The table below presents the unit slaes of the ‘ZZ999" Motorcyle in six European Countries
over a six month period from January — 2020 to June 2020. These motoreycles are imported

into each country by a main dealer, Based on the data in the table, answer the question :

Country — wise Sale of Motorcyles

Country | January | February | Mavch | April | May | June | Total
Germany 34 47 45 54 56 60
UK 40 44 36 47 47 46
France 37 32 32 32 34 33
Belgium 14 14 14 16 17 14
Spain 29 29 28 31 29 31
Italy 22 24 24 26 25 23
Total

What percentage (%) of the overall total was sold to the German importer?
(1) 22.0% (2) 26.4%
3) 25.8% 4) 24.6%

Frefortga Aol SRt 2020 ® S 2020 9% H o7 AR A @Y ¥ o TNE o g ZZ999 Wi
Etra H uew fEh (afe o) = i £ 1 3 Aot e gem e (3eR) oo T tm
ATl =h1 ey &1 Aol 3 T S % SR 9 YT i S6L G

ST-am AzEsteen 1 i

& S | B | O | o | W8 | SE | B
ST | 34 | 47 | 45| 54 |56 [ 60
Z% | 40 | 44 | 36| 47 [47|46
FTH 37 | 32 | 32| 32 [34]33
dfeeem | 14 | 14 | 14| 16 (17|14
W | 20 | 29 [ 28| 31 |29(31
zeet | 22 | 24 | 24| 26 | 25(28

ST STATAeRal i Sl T8 AIC@TSIoheT] o Bl Jiawrd o4 2 ¢

{1 22.0% {2y  25.4%
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3 Mo lry] 0
(3)  25.8% (4 24.6%

[Question ID = 2639][Question Description = Q1_GP_SET8_51_5hift2]
1. 1 [Option ID = 10553]
2. 2 [Option ID = 10554]
3. 3 [Option ID = 10555]
4. 4 [Option ID = 10556]

Carrect Answer :-
& 1 [Option ID = 10553]

2) The table below presents the unit slaes of the ‘ZZ999" Motorcyle in six European Countries
over a six month period from January — 2020 to June 2020. These motoreycles are imported

into each country by a main dealer, Based on the data in the table, answer the question :

Country — wise Sale of Motorcyles

Country | January | February | Mavch | April | May | June | Total
Germany 34 47 45 54 56 60
UK 40 44 36 47 47 46
France 37 32 32 32 34 33
Belgium 14 14 14 16 17 14
Spain 29 29 28 31 29 31
Italy 22 24 24 26 25 23
Total

What percentage (%) of the overall total of motorcycles was sold in May?
(1) 24.1% (2) 2b.6%
(3) 27.1% 4 17.8%

Frefotga Aol SHa 2020 ® S 2020 9% H o7 AR A owEl ¥ o TNE o g ZZ999 Wi
TEfea H uew R (3fe o) = S £ 1| 3 Aewmstee e e e (Ser) % g aew tm
ST =1 St 21 Groft § gega #AiS) & U W) 939 0 Iat g

Sx-am AeEsteen 1 ffi

& S | B | O | ot | W8 | SE | P
St | 34 | 47 | 45| 54 |56 [ 60
g% | 40 | 44 | 36| 47 [47|46
FTH 37 | 32 32| 32 [34]33
dfesmm | 14 | 14 | 14| 16 (17|14
w | 20 | 29 [ 28| 31 |29(31
geet | 22 | 24 | 24| 26 |25(28

W e ° S TS T A W aiwE wm R e
a  241% @)  25.6%
(3) 27.1% 4 17.8%

[Question ID = 2640][Question Description = Q2_GP_SET8_51_Shift2]
1. 1 [Option ID = 10557]

2. 2 [Option ID = 10558]

3. 3 [Option ID = 10559]

4, 4 [Option ID = 10560]

Correct Answer :-

e 1 [Option ID = 10557]

3) The table below presents the unit slaes of the ‘ZZ999" Motoreyle in six European Countries
over a 91X month period from January — 2020 to June 2020. These motoreyveles are imported
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into each country by a main dealer, Based on the data in the table, answer the question :

Country — wise Sale of Motorcyles

Country | January | February | Mavch | April | May | June | Total
Germany 34 47 45 54 56 60
UK 40 44 36 47 47 46
France 37 32 32 32 34 33
Belgium 14 14 14 16 17 14
Spain 29 29 28 31 29 31
Italy 22 24 24 26 25 23
Total

Which month showed the biggest increase in total sales from the previous month?
(1)  February (2) March
(3  April (9 May

Frefotga Al et 2020 ® S 2020 9% H o7 AR A sEY ¥ o TdE o g ZZ999 Wi
TEtea # uew fEh (3fe O9) = i B 3 Aewmntee e gem e (Ser) g wew tm R
AT =1 St 21 Gl § Sega #AS] % U W 939 i Iat dife

2979 HiZTHTEpe 1 o

&m S | B | O | ot | O8 | sE | P
ST | 34 | 47 | 45| 54 | 56 [ 60
F% | 40 | 44 | 36| 47 [47|46
FTH 37 | 32 (32| 32 |34]38
dfesem | 14 | 14 | 14| 16 (17|14
w | 20 | 29 |28 31 |29(31
geet | 22 | 24 | 24| 26 | 25|28

e we F fosfl frseht ame it feht £ gom 1 waifas gig g 2 ?
1)  wEh @) ==
(3 @) =

[Question ID = 2641][Question Description = Q3_GP_SET8_S51_5Shift2]
1. 1 [Option ID = 10561]

2. 2 [Option ID = 10562]

3. 3 [Option ID = 10563]

4. 4 [Option ID = 10564]

Correct Answer ;-

e 1 [Option ID = 10561]

4) The table below presents the unit slaes of the ‘ZZ999 Motorcyle in six European Countries
over a s1x month period from January — 2020 to June 2020. These motoreycles are imported

into each country by a main dealer. Based on the data in the table, answer the question :

Country — wise Sale of Motorcyles

Country | January | February | March | April | May | June | Total
Germany 34 47 45 54 56 60
UK 40 44 36 47 47 46
France 37 32 32 32 34 33
Belgium 14 14 14 16 17 14
Spain 29 29 28 31 29 31
Italy 22 24 24 26 25 23

prepp
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In the month of February, what percentage (%) of the monthly total was sold to the biggest

importer?
(1) 24.7% 2y 23.1%
B)  36.5% @ 51.1%

Frefotga Al seait 2020 ® S 2020 9% K TE AR A @ ¥ o gdE o g ZZ999 Wi
TEtea H vew R (3fe o) = S B 3 et e gem e (Ser) g aew tm R
ST =1 St 21 GRYf § Teqa #AT$e)  STYR W 939 F1 30t 4o

TM—am AieETEihe 1 T

e | we | e | et | md | eE | o
34 | 47 | 45| 54 | 56|60
40 | 44 | 36| 47 | 47|46
37 | 32 |32 32 | 34|33
sfesws | 14 | 14 | 14| 16 | 17|14
= | 20 | 29 | 28] 31 |29]31
et | 22 | 24 | 24| 26 | 25|28

ﬁ;

P
FEl HTE T Yo" §3 AETGHA] i Fed AT A@Ihel 61 fohaar Sfaur s=n w17
(1) 24.7% @) 23.1%
3  36.5% @) 51.1%

[Question ID = 2642][Question Description = Q4_GP_SET8_51_Shift2]
1. 1 [Option ID = 10565]

2. 2 [Option ID = 10566]

3. 3 [Option ID = 10567]

4, 4 [Option ID = 10568]

Correct Answer :-

a 1 [Option ID = 10565]

2) The table below presents the unit slaes of the ‘ZZ999" Motoreyle in six European Countries
over a £1x month period from January — 2020 to June 2020. These motorcycles are imported

into each country by a main dealer, Based on the data in the table, answer the question :

Country — wise Sale of Motorcyles

Country | January | February | Mavch | April | May | June | Total
Germany 34 47 45 54 56 60
UK 40 44 36 47 47 46
France 37 32 32 32 34 33
Belgium 14 14 14 16 17 14
Spain 29 29 28 31 29 31
Italy 22 24 24 26 25 23
Total

What percentage (%) of the total imports is accounted for by the three smallest importers?
§)) 37.1% (2) 14.8%
(3) 40.0% 4y 35.2%

Frefotga Aol et 2020 ® S 2020 9% H o7 AR A sEly ¥ o e o g ZZ999 Wi
TEtea H v ek (3fe o) = S B 3 Aewmnstee e ge e (Ser) % g aow
HATTE =1 St 2| GRYl § Teqd #Ai$s] ® SR W 999 F1 30t i

SM-am AieEEihe 1 T
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40 44 | 36 | 47 |47 |46
37 32 | 32| 32 [ 34|33
slewgn | 14 14 | 14| 16 (17|14
[ 29 20 | 28 31 | 20|31
Teeit 22 24 | 24| 26 | 25|23

o

ST | 84 | 47 | 45| 54 | 5660
%

B2 AL}

A TeH B AAGRaeT g Hel ST w1 b ufasa s e T 2 v
1  37.1% ©  14.8%
(3) 40.0% (4) 35.2%

[Question ID = 2643][Question Description = Q5_GP_SET8_S51_5Shift2]
1. 1 [Optien ID = 10569]
2. 2 [Optien ID = 10570]
3. 3 [Optien ID = 10571]
4. 4 [Option ID = 10572

Correct Answer :-
e 1 [Option ID = 10569]

Topic:- GP_Set8_B

i What 1s the name for the type of checklist or rating scale that expresses criteria on some
point-scale to determine the quality of the performance of a student?
(1) Diffusion (2) Rubrics
(3) Track system (4) Deduction

o forneff % Treren Guio % fom amgusi = wiHaE e gt 3 Rat = 0 am 20

(1) oo () =hE

8 w-Towem (4) Fmm

[Question ID = 2684][Question Description = Q06_GP_Set8_S1_Shift2]
1. 1 [Option ID = 10733]

2. 2 [Option ID = 10734]

3. 3 [Option ID = 10735]

4, 4 [Option ID = 10736]

Correct Answer :-

s 1 [Option ID = 10733]

What is the name of the mental process that assists learners to reflect on their thinking by
internalizing, understanding, and recalling the contact to be learned?

(1)  Meta cognition (2) Rubrics
(3)  Peer tutoring (4) Debriefing

30 oAl fEET & AW 2 ST e, v, Afimita £ 9 arell -y % weaeE &
210 Fransft =t = o fome = w2 7

(1)  oTEwsm™ (2) Fhr®
(8)  wOwE IERE (4) Gigea SR S

[Question ID = 2685][Question Description = Q07_GP_Set8_S51_Shift2]
1. 1 [Option ID = 10737]

2. 2 [Option ID = 10738]

3. 3 [Option ID = 10739]

4. 4 [Option ID = 10740]

Correct Answer ;-

e 1 [Option ID = 10737]
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3)

Gaven below are two statements :

Statement I: In free version of google meet (through your personal Gmail / Google account)

you can record your session / class.

Statement IT: To join an onhine class / session conducted via Google Meet you need to login

In

to your Google account.

the light of the above statements, choose the correct answer from the options given below:

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect

(3) Statement I is correct but Statement II is incorrect

(4) Statement I 1s incorrect but Statement II 1s correct
= gt o e mu £

w2 ([):  Pre die % B aoH 8 (AT oafdaTa S et/ TRISE g G S1O w@ feeig

O 2 |

oA (1) : T WE G Halierd UF e B41/83 il SaHA FE % U S9! 37 e THse §

M- = i 5 uZat 2 |

I HF F AT 0, 44 G T e § 9 ued Iugw S A 9Ee Fil

(1)
2)
(3)
(4)

Fom I ¥R I o o8t 2 |
Fo I 3R I 51 o 2 |
FoR 1 TE 2, S5 o 11 7o 2 |
FYA 1 7o B, i e IT e 2 |

[Question ID = 2686][Question Description = Q08_GP_Set8_S1_Shift2]
1. 1 [Option ID = 10741]
2. 2 [Option ID = 10742]
3. 3 [Option ID = 10743]
4. 4 [Option ID = 10744)

Carrect Answer :-
& 1 [Option ID = 10741]

Which of these decision traps pertain fo personal qualities?

(A) Frame blindness

(B)  Overconfidence

(C) Taking shortcuts

(D) Being unsystematic

(E}  Not keeping records

Choose the correct answer from the options given below :

(1

(3)

(&), (B), (C) only 2 ®). (), (D) only

(&), (O). (D) only @ (0. D). (E) only

Fresferfiam 7 & 0 B Qs it e 27

A  sTFu-Ta

Y

o R = p e
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(C)  witge ArigE
(D) sTHafead B

(B) e 75w
T 2w e fFFew °§ § 9 IO% W 99 i
(1) @A (A). (B). (C) 2) == B), (C), (D)

@  F @A) (©), (D) @ = (0), (D), (E)

[Question ID = 2687][Question Description = Q09_GP_Set8_51_5Shift2]
1. 1 [Option ID = 10745]

2. 2 [Option ID = 10746]

3. 3 [Option ID = 10747)

4. 4 [Option ID = 10748
Correct Answer ;-
& 1 [Opticn ID = 10745]

Match List I with List IT
List I List IT
(A) Proprietary LMS O MOODLE
(B) Open source LMS (II) Google classroom
(C) Cloud based LMS (IIT}y Black board
(D) Data collection and quiz (IV) Google form
Choose the correct answer from the options given below :
1 (A-AV), B)-dI), (C)-D. (D)-I)
2>  @-ID. B)«IV), (O)-dID. D)-D)
(3 (A)-(D). (B)-(1D), (C)-AV), (D)-(I1I)
4 (I, B)-D), (O-1D. D)-1V)
TAi-1 % T g=-11 =1 fiem it -
Eid geil-I1
(A) W ve. .. @O wmensdws. (7ed)
(B) 3TTUT T U UH. U, (D) T Iy
(C) TITsS WL Uel. UH.TH. IIl) == «@is
(D) e gred AR e AV) T wi

Hr= 23 7o et 0 ° TEt e 99T i

1) (A-0V), (B)-dID), (C)-D. D)-(ID)
@  @-Ah. B)-AV), (C-AID. (D)-D)
(3 @D, B)-1D, (C)-AV), (D)-(1D)
49 (A, B)-0). (O)-ID), (D)-AV)

[Question ID = 2688][Question Description = Q10_GP_Set8_S51_Shift2]
1. 1 [Option ID = 10749]
2. 2 [Option ID = 10750]
3. 3 [Option ID = 10751]
4. 4 [Option ID = 10752]

Correct Answer ;-
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| 1 [Option ID = 10749]

Scientific research has the ultimate goal of explaining any phenomenon by

(1)
(3)

Conditional laws (2) Laws of umqueness
Laws of intuition (4) Laws of generahisation

Aerfier ma % ure el afteen % @ sAE w sifsn we, Pras aeag § v 27

(1)
3

oA FHEm (@) AfadEar = Ay
1= W A Ay (4) =i = fem

[Question ID = 2689][Question Description = Q11_GP_Set8_S1_5Shift2]
1. 1 [Option ID = 10753]
2. 2 [Option ID = 10754]
3. 3 [Option ID = 10755]
4. 4 [Option ID = 10756]

Carrect Answer :-
& 1 [Option ID = 10753]

7)  Which of the following are true case studies?

(4)

(B)

(©)

D)

(E)

Easy to generalize the findings

Normally Selects one case for analysis at a tume

Highly quantitative in character

Integrates different perspectives

Adopts the most consequent approach to the particular

Choose the correct answer from the options given below :

(1)

3

(A). (B). (C) only (2) (B). (O). (D) only

(B). (D). (E) only 4 (C). (D). (E) only

Frefeiilag U & =9 T0—-3T599A % AR 4 g B 7

A4)

B)

©)

®)

(E)

TTTEr =67 W] 3T 2

TET=IET U W91 H Tk 0] <1 <P T |
feraran o == it = |

feafira afciest =i gafeq = 2|

fafere 29 waTepe sTadl SaFE Fi SFHR Fa 2 |

f= fou U fomed § W UE SO W 99 HIeT

(1

3

7 (A), (B). (C) 2 F94 (B). (C), (D)

Fad (B), (D). (E) @) == (C). (D), (B)
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[Question ID = 2690][Question Description = Q12_GP_Set8_S1_5Shift2]

1. 1 [Option ID = 10757]
2. 2 [Option ID = 10758]
3. 3 [Option ID = 10759]

4, 4 [Option ID = 10760]

Correct Answer :-
a 1 [Option ID = 10757]

prepp

Your Personal Exams Guide

(A) Select a sample

(B) Prepare the focus group material

(C)  Define the problem

(D) Decide the number of groups needed

(E) Prepare the mechanics of the study

Identify the sequence of methodological steps in focus group research :

Choose the correct answer from the options given below :

D A E). D). ©O).5B

3 B C).A. D). E
Hehf-gad THE MY T FHFG O i J@en i THaE W
(4) T ufaew oH |
B) FF3a g INEH TR A
(C) 9w = gitmiia = |
(D) 3MaTFH TPz T H UE A |
(E) 107 qonell o |
Hier feu o frpedt § & G@) s9C w1 w2 HifAY

@D A, E). D) ©).®

3 B, (0. A), D), (E)

(©). (V). D). (E). B)

(D). (A). (C). (B). (E)

(©). (A). (D). (E). B)

D). ). (C), (B), (E)

[Question ID = 2691][Question Description = Q13_GP_Set8_S1_5Shift2]

1. 1 [Option ID = 10761]
2. 2 [Option ID = 10762]
3. 3 [Option ID = 10763]

4. 4 [Option ID = 10764]

Carrect Answer :-
& 1 [Option ID = 10761]

kv mmmde T o

Given below are two statements :

o FENEE L, ([, PR [ A JERES BOSES, (NSRRI LN RUPEN L, STPINROINRR N o, ISUU CHNSERU, [l ok SPR. [ SPINELRNY L UNRPNPRGRT LIry 1t SRS i WRSIPTE,
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P e W Rl N R Y e w P i el e e R Rl R uvav;a.b&&;b i DhEW ¥ ek b’ VT EEN ke Wik A R D e d Tl ok “W\-I’Pl-l’ PhEW EWAW R Wl

predicting human behavior in mechanistic terms.

Statement IT: It 1s asserted that the main aim of social science research is to promote

human understanding.

In the hight of the above statements, choose the correct answer from the options given below:

(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement I are false
(3) Statement I 1s true but Statement II i1s false
(4) Statement I 1s false but Statement IT is true
fRgFmtfeee? .
Fo ([): % fifa 3 woag A dsns a=ae 16 § 9Fa oasn giasrEmi F feEw w wiEmn
T w2
Fo[ (ID) : 72 ey % @ 2 05 amfors faem iy s57a 9ra g i Teiied e 2 |

YU HY W 0, A fou e faemet 1 U ugl I 1 =ee Hife

(1) FFIIRISATTE |

(2) w3 IIgH 3eT © |

(3)  w¥a [ Heg 2, wifehd %o II 9T 2|

(4 T I omea B, At weE [T 2 |

[Question ID = 2692][Question Description = Q14_GP_Set8_S1_Shift2]
1. 1 [Option ID = 10765]
2. 2 [Option ID = 10766]
3. 3 [Option ID = 10767]
]

4. 4 [Option ID = 10768

Correct Answer :-

» 1 [Option ID = 10765]

Match List I with List II
List I List IT
Concept Description

(A) Isomorphism (D) Use of both qualitative and
quantitative methods

(B) Trmangulation (II) Premise that the simplest method 1s
most prefereable

(C) Prinaple of Parsimony (IIT) A property of a population

(D) Parameter (IV) Similarity of structure

Choose the correct answer from the options given below :

(1
(2)

(A)-(D). (B)-(1D), (C)-(1L), (D)-(IV)
(A)-(ID), (B)-(IID), (C)-IV). (D)-D

prepp
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(3 @A), B-AV), (-0, O)-aD)
@ A-IV). B)-O. (O-0D. (D)-d1D)

gt-1 & @y g=i-I1 =1 foem Fifeg -

1T =11

[ETarnil fereror
(A) THTHAHA @  ToTeEk 3 giorEeE=s A1 ggfeat = v
@) P AD) =ER @99 76 gtemn ugha gaitas afe 2
(C) Fuvral = Frgra Iy S &
D) = AV) T I T

4 52 o e 9 9 w9 SR =95 it -
(1 (A)-(D. B)-11), (C)-dIL), (D)-(IV)
2) (A)-(D, (B)-(I1D), (C)-AV), (D)-D
3 (A)-I1D). B)AIV), (O)-(D). (D)-aD)
(4) A)-(1IV), (B)-@D, (C)-(1D). (D)-III)
[Question ID = 2693][Question Description = Q15_GP_Set8_51_Shift2]
1. 1 [Option ID = 10769]
2. 2 [Option ID = 10770]
3. 3 [Option ID = 10771]
4. 4 [Option ID = 10772
e e N
e 1 [Option ID = 10769]

1) In a classroom, transforming verbal and non-verbal signs back into messages 1s known as
(1) Feedback (2) Encoding

(3) Decoding (4) Reverse communication

FeT H VI (Feiet) Wehd qoT TS (AA-T6A) Tehal o1 GS9 H T Hadil 3

(1)  viagiz (Fies=) (2) UeheA (TRITET)
8) e (femifs) ¢) Tuta s (e =egfeem)

[Question ID = 2694][Question Description = Q16_GP_Set8_S1_5Shift2]
1. 1 [Option ID = 10773]
2. 2 [Option ID = 10774]
3. 3 [Option ID = 10775]
4. 4 [Option ID = 10776)

Carrect Answer :-
& 1 [Option ID = 10773]

Perspective taking in communication supports
(A)  Behavioural ngidity

(B) Openness

(C)  Sharing of information

(D) Trust

(E) Secrecy

Choose the correct answer from the options given below :

1) (A), (B), and (C) only 2 (B, (), and (D) only

(3)  (0). (D), and (E) only 4 @), (C), and (E) only
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aume 1§ it a2 Feiliaa § o e gemar s 27

(A) IEETHGE FFEA

® g

(© = i wgid

£,

D) Fram

(B) o

f feu v frpen d 9 ORI W 9 Hie

() F= (A), B) 3K (C) ) F= (B), (C) 31k (D)
(3  FFd (C), (D) ¥R (B) @ FFF (A). (C) 3R (E)

[Question ID =

2695][Question Description = Q17_GP_Set8_S1_5Shift2]

1. 1 [Option ID = 10777]
2. 2 [Option ID = 10778]
3. 3 [Option ID = 10779]

4. 4 [Option ID = 10780

Correct Answer :-

& 1 [Option ID = 10777]

13)
Given below are two statements : One 1s labelled as Assertion (A) and the other is labelled as
Reason (R) :
Assertion (A):  The positive feedback from the teacher 1s necessary to motivate students.
Reasons (R) : Continuous criticism of students is the best method to make them realize

positive outcomes in their pursuit of knowledge.

In the light of the above statements, choose the answer from the options given below :

)
2
(3
(4

Both (A) and (R) are true and (R) is the correct explanation of (A)
Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(A) 1s true but (R) 1s false

(A) 1s false but (R) 1s true

R e T e

{9 o1 HeA fou 7w 2 TF AU (Assertion A) % ¥4 ® folEd 2 A1 g0 3% T (Reason R) %

e
SATHA (A)
RO (R) :

T rrir—T— v T i

S e R i fi e s e e e
=i 2

Tt = AR ST 3 O T a1 W NI i Y Wegd R
e ferie 21

e A A e e A D o e B
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(1) (A) 3 (R) TH 741 3 311 (R). (A) Fi w2 =mem 2 |
2)  (A) 3 (R) THI Tca 2 =it (R). (A) F1 T2 = T 2
(8) (A TE 2 ARA (R) 37T 2 |
(4  (A) 3@ 2 96 (R) 93 2

[Question ID = 2696][Question Description = Q18_GP_Set8_S1_Shift2]
1. 1 [Option ID = 10781]
2. 2 [Option ID = 10782]
3. 3 [Option ID = 10783]

4. 4 [Option ID = 10784

Correct Answer :-

e 1 [Option ID = 10781]

14)  The sequence of the stages of communication process is :

@ @A B ). D), E 2) @®. ), D). (E), Q)
3y  (C). (E). D). A). B @) (B). (C). D). &), E)
T i | ST T A A
(4)  TfEEw (TEEEE) H R

(B)

(©)

)

(E)

(&)

(®B)

(&)

(3)

(E)

Level of acceptance
Transmission of congnitive data
Message reception
Understanding

Reaction

Choose the correct answer from the options given below :

TS (Fif-1ea) Thst = T=

T 7o (e fare)

qry (HvsEdisT)

PiGIEI

Hi= fau U famseul § © TE 39 @ =94 whitey

1

(3)

(4). (B). (C), D). (B) 2 ®.(©0). D). E). AW

(€). (B). (D), (A), (B) @ ®B). (). D), A). E)

[Question ID = 2697][Question Description = Q19_GP_Set8_51_Shift2]
| 1. 1 [Option ID = 10785]

prepp
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| 2. 2 [Option ID = 10786]
3. 3 [Option ID = 10787
4. 4 [Option ID = 10788]

Correct Answer :-
& 1 [Opticn ID = 10785]

") Match List I with List II
TLastT Last 1T
Type of commumcation Characteristic feature
(A) Network communication (. Formal and Planned
(B) Mass communication (I) Creates identity and unigue dynamics
(C) Publc communication (II) Inter — dependent relations
(D) Small group communication (IV) Anonymous audience
Choose the correct answer from the options given below :
(1)  @-ID. B)-IID), (C)-AV), (D)-OD)
(2) (A)-(I1D). (B)-AV), (C)-@D). (D)-AD)
3  A-av), ®-@, (O)-aAD, (D)-A1D)
(4) (A)-(D. (B)-1D), (O)-IL), (D)-(IV)
gfi-1 % @er gi-I1 = fiere Hifs
-1 i
(A) eI F9R O  =ToETEs 9y aeTeg
(B) = H9R (U FHI) AD =7 s (snzefRR) aw sifgdia wfeh
(FFe SETE) 1 et w2
(C) TS FaR (e Fgfeee) AID) ==t aey (e e fewm)
(D) Y 998 FIR @AV) STEE A (SIS AeTE)
il 783 g faepeat o O 91 3o W == iy
1) G-I, (B)-(I1D), (C)-AV), (D)-D)
2  (A)-IID. B)-IV), (O-O). O)-dD
3  ®)-AV), B)-), (O)-1D), (D)-(II)
@D (A)-D). B)-II). (CO)-1IL), (D)-(IV)

[Question ID = 2698][Question Description = Q20_GP_Set8_S1_5Shift2]
1. 1 [Option ID = 10789]
2. 2 [Option ID = 10790]
3. 3 [Option ID = 10791]

4. 4 [Option ID = 10792]

Carrect Answer :-

1 [Option ID = 10789]

Sagun purchased a smartphone at 9/10® of its selling price and sold it at 8% more than its
selling price. Her gain is

1)
(3)

10%

18%

2) 12%

4 20%

prepp
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T I UF TE B 35 56 qed % 9104 Yo W @il a9 36 sheh fone qea | 8% a1 ot sy

IHF ATH 2
(1) 10% (2) 12%
(3) 158% (4) 20%

[Question ID = 2699][Question Description = Q21_GP_Set8_S51_Shift2]
1. 1 [Option ID = 10793]
2. 2 [Option ID = 10794]
3. 3 [Option ID = 10795]
4, 4 [Option ID = 10796]

Correct Answer :-
e 1 [Option ID = 10793]

'7)  If CHARCOAL is coded as 45164913, how will you code COALCAR?
1) 4913413 ©) 6194314
©) 3104416 4) 4913416

A 2 9 # CHARCOAL i 45164913 Tor@n =me, df COALCAR =1 fFa R foran smom?

(1) 4913413 (2) 6194314
3) 3194416 (4) 4913416

[Question ID = 2700][Question Description = Q22_GP_Set8_S1_5Shift2]
1. 1 [Option ID = 10797]
2. 2 [Option ID = 10798]
3. 3 [Option ID = 10799]
4, 4 [Option ID = 10800]

Correct Answer :-
e« 1 [Option ID = 10797]

Looking at a photo of a mman, Ravi said, ‘His mother 1s the wife of my Father's son. I have no
brothers and sisters’.

At whose photo was Ravi looking?
(1) His Cousin (2) His Son

(3) His Uncle (4) His nephew

frelt 0o % P F a0 Juw 09 3 F, Cswh ol W f F g B ool 21 da e @ w
T 21 & Frs Bt B w2

(1) = T=R 9E/e (Be) (2) T W
(3) o == (4) 19 T

[Question ID = 2701][Question Description = Q23_GP_Set8_51_5Shift2]
1, 1 [Option ID = 10801]
2. 2 [Option ID = 10802]
3. 3 [Option ID = 10803]
4. 4 [Option 1D = 10804]

Carrect Answer :-
& 1 [Option ID = 10801]

Given below are two statements :

Statement I: If the interest on a sum borrowed for a certain period is reckoned uniformly,

then 1t 1s called compound interest.

prepp
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Statement IT: The money borrowed or lent out for a certain period is called simple interest.

In the light of the above statements, choose the correct answer from the options given below:

(1) Both Statement I and Statement I1 are true
(2) Both Statement I and Statement II are false
(3) Statement I is true but Statement II 1s false

(4 Statement I 1s false but Statement IT 1s true

ez srmftem? .

wE () : =R fdt oty F fow ™ =0 W == A W o 79E A S g, @ 97 S TG w9
HEAT 2 |

woF () : fell orafa % fore ot <t 78 srven ==t 41 18 el AT S weed! 2 |

SR HA T e A, e e e e § O gd s W w it

() o IR I o 2 |

@ = I e o 3 |

(8) =wA 19w 2, witthd Fu= IT 3/ca 2 |

(4) o I3TEe 2, T wme M e 2|

[Question ID = 2702][Question Description = Q24_GP_Set8_S1_5Shift2]
1. 1 [Option ID = 10805]
2. 2 [Option ID = 10806]
3. 3 [Option ID = 10807]

20) Match List I with List IT With respect to completion of sentences

TList I Tast IT

(A) The sum of first forty five natural Iy 19
number is

(B) The least prime number ig (I 75

(C) The total number of prime numbers {III) 10356
less than 70 1s

(D) On dividing 4150 by a certain number (IV)y 2

the quotient i1s 55 and the remainder
is 25. The divisor 1s

Choose the correct answer from the options given below :

(1)  @&)-dD. (B)-(ID), (C)-(I). (D)-(IV)
(2)  (A-dm. B)-dDh, (C)-AV). D)-(D
(3) A, (B)-AV). (C)-I). (D)-(H)

AN AT ALY TN A0 (TITY T (T
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b S 4 N T YT N r NS N N YT b

g1 < o g 11 = foer =ity 5o s =R R amemn g g =)

(&)
B
(&)
D)

=

)
(2)
3
@

I g I1
o areha wrpfaE Genat @ A M 19
Ty Bt TG T 2 | I 75
T U IS TG TS W P T 2 (IID) 1035
T 4150 # Bt wem @ wrr 93w (Iv) 2
YUTEE 55 I AT 25 Tl B, AT WS 8

fear 7 femmel o o wE 3O 1 =EA Hifa

(A)-(ID), (B)-IID, (C)-@), (D)-AV)
(A)-(ID), B)-AD. (C)-AV), D)-D
(A)-(1D), B)-AV), (C)-[). D)-d1)
(A)-aD. (B)-IV), (C)-dID), M)-@)

[Question ID = 2703][Question Description = Q25_GP_Set8_S1_Shift2]
1. 1 [Option 1D = 1080%]
2. 2 [Option ID = 10810]
3. 3 [Option ID = 10811]

4. 4 [Option ID = 10812]

Carrect Answer :-

1 [Option ID = 10809]

Given below are two statements : One 1s labelled as Assertion (A) and the other is labelled as
Reason (R) :

Assertion (A): The argument "Everything i1s nameable because 1t 18 knowlegable” 1s

fallacious.

Reasons (R) : There is nothing that is not nameable and I cannot find a place where,

because of the absence of the major term, the middle term is also absent.

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct and (R) 1s NOT the correct explanation of (A)
(3) (A) 1s correct but (R) 1s not correct

(4) (A) 1s not correct but (R) 1s correct

Hi= a1 = fu e £ : w sifiEoR (Assertion A) % =q ° fufiga 3 a1 g@u su% ®rw (Reason R) #

'{C_\Qﬁ
FHT (R) : et g g & Forger 1 A& 2 war 3 § Yo S wom T8 wwm 2, S w1

garzg i 2

SYUTH Y % el H, 919 <ie 10 fawedt § 9 g9 Iugs ST =g ity

M

FAY =TT DY e T 3 nFr DY FAL =Y e = B
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[Question ID = 2704][Question Description = Q26_GP_Set8_S1_5Shift2]
1. 1 [Option ID = 10813]
2. 2 [Option ID = 10814]
3. 3 [Option ID = 10815]
4. 4 [Option ID = 10816
Carrect Answer ;-

* 1 [Option ID = 10813]
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a2 Given below are two statements :

Statement I: The terms “true’ and false’ apply to arguments.

btatement II : The ferms ‘true’ and false’ apply to statements.

In the hight of the above statements, choose the correct answer from the options given below:

(1) Both Statement I and Statement IT are frue
(2) Both Statement I and Statement IT are false
(3) Statement I 1s true but Statement II 1s false

(4) Statement I 1s false but Statement II 1s true

TR Fmftcms .

Fo ([): @ S Terd g 9 T AN B 2 |

woE (D) :  wdt il e’ ug =i 9T A R 2 |

I B H A §, Jre fou o fawedt 4 ¥ 9 s o == il

(1) FF IR O3 T 8 |

(2) e IR I 3A1 979 & |

(3)  Fu 1T 2, 9feT B I o/ 21
(4) = I 2, Al e [LacA 2 |

[Question ID = 2705][Question Description = Q27_GP_Set8_S1_5Shift2]
1. 1 [Option ID = 10817]
2. 2 [Option ID = 10818]
3. 3 [Option ID = 10819]

Carrect Answer :-
& 1 [Option ID = 10817]

.
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Statement I: The fallacy of contradictory middle (viruddha) occurs in an argument when

the middle term is found both where the major 1s found and where it 1s not

found.

Statement II: The fallacy of coniradictory middle (viruddha) is committed in an argument

when the middle term is found only where major term is absent.

In the light of the above statements. choose the correct answer from the options given below:

(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement II are false
(3 Statement I is true but Statement I is false

(4) Statement I is false but Statement I1 1s true

A= 2 =y feu o B -

o (I):  fopddt o6 4 famg Zeaneim oa =iaT 8 W 2 <A B Teafaai | aen S & - S "iey w7 v

A ST AR ST AT T8 9 |

o (1) : Tt oo o foeg 2eamama o@ stan & 9@ 2d k1 gar ol = =9 grer 7 @ |

IUUTE YT & 2TeE 1, J19 20 10 fFepedi 4 9 T8 3T F 999 e

)

(2)

(3)

4)

[Ques
1[0

F9 I S I1 1 5ed 2 |

F9A I 37 I 21 37T 2 |

F [T 2, ofeT 599 [L o5 2|

Fo 1 3700 2, Afh 599 9 2

tion ID = 2706][Question Description = Q28_GP_Set8_51_5hift2]
ption ID = 10821]

2 [Option ID = 10822

Correct Answer :-

1.
3
3. 3 [Option ID = 10823]
4. 4 [Option ID = 10824

e 1 [Option ID = 10821]

T

Given below are two statements : One 1s labelled as Assertion (A) and the other is labelled as
Reason (R) :

Assertion (A): For Nawvayikas, logic 1s not formalized and divorced from existence.

Reasons (R) : Naiyayika's interest in logic is for finding out the truth about the existent
world, but not merely for finding out the instrument of thought for their
own sake.

In the light of the above statements, choose the most appropriate answer from the options
given below :

(1) Both (A) and (R) are correct and (R) 1s the correct explanation of (A)

(2) Both (A) and (R) are correct and (R) is NOT the correct explanation of (A)
(3) (A) 1s correct but (R) is not correct
(4) (A) 1s not correct but (R) 18 correct

e, PRSP SR  . STC Y. —_ el e e .t PP ot DO o, SR o i SR RGP, § . . e AL
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3
BYH :

ST (A) FR] % STER, T TEREE TE B & AU 7R A ¥ fates= g 8 |

=107 (R) : b | ATl < s faeeE vg % o %0 ua o 4 2, 7 T e 399 3 o
foam = el = g |

ST BY % IS H, A 40 T fEepedl § ¥ Tud ST SR B0 9 I
1)  (A) 3R (R) I ¥& 3 31 R), (A) Fi w81 = 2|

(2)  (A) 3R (R) T T 2 9 R), (A) F wE = TH 2 |

(3) (A T 2 I (R) TaT T4 2 )

(4) (A Td AF 2 A ®) wE 2

[Question ID = 2707][Question Description = Q29_GP_5Set8_51_Shift2]
1. 1 [Option ID = 10825]

2. 2 [Option ID = 10826]

3. 3 [Option ID = 10827]

4. 4 [Option ID = 10828]

Correct Answer ;-

e 1 [Option ID = 10825]

Socialized medicine is not recommended because i1t would result in reduction of the over all
quality of medical care. In addition, it might well bankrupt the federal treasury. This is the
whole case against socialized medicine. “What 1s the conclusion in the above argument?

(1) Socialized medicine 1s not recommended.

(2) Socialized medicine would result in reduction in the overall quality of medical care.
(3) Socialized medicine might bankrupt the federal treasury.

(4) There are overwhelming arguments against socialized medicine.

At situly 1 sgwar 7E f I 2w e e S A wepet Ee § s o) s
AfaREd, 399 THE TR o feaer™n 21 ST | 77 TEsiEd sy g FEiAl 21 Sued o W
fow 27
(1) ool it =1 o= 728 %I S 21
Q)  wusEa siuta ¥ ftwem e i gogo) e | s s
(3)  wwiia Sitwfir @ xia e fanfemn & s
(4)  waipa iy % faeg 79gg a% feg T 2
[Question ID = 2708][Question Description = Q30_GP_Set8_S1_Shift2]
1. 1 [Option ID = 10829]
2. 2 [Option ID = 10830]

3, 3 [Option ID = 10831]
4. 4 [Option ID = 10832]

Carrect Answer :-
* 1 [Option ID = 10829]

26) : . : : :
With respect to Computers, which of the following groups consists of volatile memory only?
(1) RAM and Pen Drive (2) Hard Disk and ROM
(3) RAM and Cache (4) Cache and ROM

FHEHR % FEY § FreAfatad § @ FA 9 T Fae dienesa Jurd w87

(1) 39 3R 97 Ea (2) =E f&mw ik dn
(3 T (4) =m U

[Question ID = 2709][Question Description = Q31_GP_Set8_51_Shift2]
1. 1 [Optien ID = 10833]
2. 2 [Optien ID = 10834]
3. 3 [Option ID = 10835]
4. 4 [Option ID = 10836]
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Correct Answer ;-
e 1 [Option ID = 10833]

27) Identify the correct order of the following INTEL processors in the decreasing order of speed.
(A) 80486
B) 8085

(C) Dual Core

(D) Pentium - III

Choose the correct answer from the options given below :

1 @D. 0. B, &) 2 (O. D). A). B
@ ©.O.5B.@ @ ®.D0)0). W

frorfafaa s (o809 7 4.0, ) TR = T2 58 TR % H9 § T we o falga w1

(A) 80486

(B) 8085

(C) 3o+
(D) ufem - I

5 v U fowedl 8 ¥ w8 ST 99 e

1) D). (©). B) &) 2) (©). D). ). (B
3 (©.D).B). & (4 (B). D), ). A)

[Question ID = 2710][Question Description = Q32_GP_Set8_51_Shift2]
1. 1 [Option ID = 10837]

2. 2 [Option ID = 10838]

3. 3 [Option ID = 10839]

4. 4 [Option ID = 10840]

Correct Answer ;-

e 1 [Option ID = 10837]

Given below are two statements :

Statement I: USB drives are also known as flash drives.

Statement IT: Device used by banks to automatically read those unusual numbers on the
bottom of cheques and deposit slips 1s known as MICR.

In the light of the above statements, choose the correct answer from the options given below:

(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement I are false

(3) Statement I is true but Statement II is false
(4) Statement I is false but Statement IT is true

w9 (I): 7,081, 3@ Fwoiv g5 % 59 4 off 5H w9 B |

w9 (II): = 3 -G 5 AGIET § ST S e b Wa: ugd + e dw g wgda 3
.S LR, 9§ SE S 2

I I % A 1, 9 T8 1 famwew) 0 9 wel S % 99 hifa

(1) = It I3 oo 2

(2 e ISR IS s 2 |

(3) e Ioew 2. <« = 1T sraes 21
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[Question ID = 2711][Question Description = Q33_GP_Set8_S1_Shift2]
1. 1 [Option ID = 10841]
2. 2 [Option ID = 10842]
3. 3 [Option ID = 10843]
4. 4 [Option ID = 10844]

Carrect Answer :-
s 1 [Option ID = 10841]

Which of the following are software?

(A) Adobe

(B) Web browser
(C) Compiler

(D) Device Driver

Choose the correct statements from above :

() (A (B) and (C) only @ (B).(C)and (D) only
(3) (A, (C) and (D) only 4) (A), (B) and (D) only

fefafiaa 3 2 #19 @ream 27

@ TEm

B) g9 FEH

(C) IS

D) feama gER

e few U fampeat o O U S = 9= i ;

(1) @ (A), B) 1 (©) 2 =4« (B), (C) 3 (D)
@)  F=d (A). (O) 3 (D) (4) a9 (4). B) 3R (D)

[Question ID = 2712][Question Description = Q34_GP_Set8_S51_Shift2]
1. 1 [Option ID = 10845]

2. 2 [Option ID = 10846]

3. 3 [Option ID = 10847]

4. 4 [Option ID = 10848]

Correct Answer ;-

e 1 [Option ID = 10845]

%) Match List I with List II
List I List II
{(Name of Company) {(Founder)
(A) Apple Inc. (D N.R. Narayana Murthy
(B) Microsoft Inc. (I} Steve Jobs
(C) Infosys Ltd. (IIDD Bill Gates
D) Airtel IV) Sunil Bharti Mittal
Choose the correct answer from the options given below :
(1) (A)-(IID), (B)-(1V), (C)-D. (D)-(D)
(2) (A)-IV). (B)-d1D), (C)-dI), M)-dD)
3  (A-An, (B)-av), (O-@, (D)-I1L)
4  (A-adD. (B)-IID. (O-O. D)-(IV)
gH1-1 % T FHi-I1 1 e Hife
Tfi-1 -1
FIHT % M TTATIH

(A) woIE o, @O . IR, TREOE

T —
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(B) HIgHEN 5. (11} %2 SHisy
(C) wwifty fAfigs Il foe izw
D) uaRea av) e ardt firee

#r= fau o ferewt 8 O v s # e fifm

(O @-D, B)-AV), (C)-10). D)-O)
@  @A)-Iv), (B)-ID), (C)-(1), (D)-{@)
3  A-AD. B-AV). (O-O. (D)-dID)
@  A-AD. B-AID. (O-O, @)-AV)

[Question ID = 2713][Question Description = Q35_GP_Set8_51_Shift2]
1. 1 [Option ID = 10849]
2. 2 [Option ID = 10850]
3. 3 [Option ID = 10851]
4. 4 [Option ID = 10852
Correct Answer ;-
e 1 [Opticn ID = 10849]

According to one of the Sustainable Development Goals, the per capita global food waste at
the retail and consumer levels is to be reduced to the extent of

(1) 1/2 (Half) (2) 1/3 (One third)
3) 1/4 (One fourth) (4) 1/10 (One tenth)

urefir T wafgat 0 ¥ o % oruR, @ew it suwe WX W vid =afd dfvas emar-sfear = faa

Qi ek ST A1
QO 172 (sm) @) V3 (o= fer)
(3)  1/4 (um =itoms) @) V10 (v% %)

[Question ID = 2714][Question Description = Q36_GP_Set8_S1_Shift2]
1. 1 [Option ID = 10853]

2. 2 [Option ID = 10854]

3. 3 [Option ID = 10855]

4, 4 [Option ID = 10856]

Correct Answer :-

e 1 [Option ID = 10853]

32) According to WHO standards, the pesticide content (Lindane or DDT) in drinking water
should not exceed

(1  1pglt @) 2upgl?
(3)  5ugL? (4) 10 pgL-
fova = E1ea % AR U9 5 ° Hieess $ A (e m S AL ¥ it T
=T =nfEu:
Q) 1 ugl (2) 2 gLt
(3) 5puglL? (4) 10 pgl?

[Question ID = 2715][Question Description = Q37_GP_Set8_51_Shift2]
1. 1 [Option ID = 10857)

2. 2 [Option ID = 10858]

3. 3 [Option ID = 10859]

4. 4 [Option ID = 10860
Correct Answer ;-
e 1 [Opticn ID = 10857]

33) Which of the following Pollutants has the least residence time in atmosphere?
(1)  Nitric Oxide (2) Nitrous Oxide
(3) Chloroflorocarbons (4) Methane

fact v -

1 1§ 60 TeEs W Ag § s SRt B 8 ¢

(1) qEles Hiaues (2) AEH HAHES
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(8)  FEA-FAR - (4) Hiem

[Question ID = 2716][Question Description = Q38_GP_Set8_S1_5Shift2]
1. 1 [Option ID = 10861]
2. 2 [Option ID = 10862]
3. 3 [Option ID = 10863]
4, 4 [Option ID = 10864]

Correct Answer :-
e 1 [Option ID = 10861]

34) Noige levels (db) are referenced to the human hearing threshold at a frequency of
(1) o0 Hz (2) 100 Hz
(3 1KHz (4) 4 KHz

e sgfa T AHa-yam - ST #1 e ggEn TR (3E) W ey e Fe o 2 e

() 50Hz (2) 100 Hz
(3) 1 Khz 4) 4 Khz

[Question ID = 2717][Question Description = Q39_GP_Set8_S1_Shift2]
1. 1 [Option ID = 10865]
2. 2 [Option ID = 10866]
3. 3 [Option ID = 10867]
4. 4 [Option ID = 10868]

Carrect Answer :-
& 1 [Option ID = 10865]

35
‘ International Solar Alhance Framework Agreement entered into force in the year
(1) 2015 2y 2017
(3) 2016 (4) 2018

FA~GE TR T2 i (Seueel Gier Ay hHas Giie) @] 3o ?

(1) 2015 @ 2017
3) 2016 4 2018

[Question ID = 2718][Question Description = Q40_GP_Set8_S1_Shift2]
1. 1 [Option ID = 10869]
2. 2 [Option ID = 10870]
3. 3 [Option ID = 10871]
4, 4 [Option ID = 10872]

Correct Answer :-
a 1 [Option ID = 1086%]

In Banabhatta's Kadambr, geod education has been described as having knowledge of 64
Kalaa or arts. Among these 64 Kalaa, Which among the following subjects were included

(I) Only arts such as Singing and Painting
(2)  Only arts and vocational courses
(3) Arts, vocational courses and Medicine

(4) Arts, vocational courses, Engineering, Medicine, Mathematic, Science and Many
other subjects.

o A Frem H, a9 e W 99 64 Fnedl W FE WH % F9 H FR T 21 39 64 wonedl H
Frafaftga o ¥ 4 gfoita 97

(1)  Fae T o fmm {9 wes

(2) e AGENF TEAH 3R Fer

(8)  wend, =EEites TEAwn, ArfkeE

@) e, et g, Al sl -, fEe s B s fowe )
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[Question ID = 2719][Question Description = Q41_GP_Set8_51_Shift2]
1, 1 [Option ID = 10873]
2. 2 [Option ID = 10874]
3. 3 [Option ID = 10875]
4. 4 [Option ID = 10876]

Carrect Answer :-
& 1 [Option ID = 10873]

Given below are two statements : One 1s labelled as Assertion (A) and the other is labelled as
Reason (R) :

Assertion (A): Doing Inter — disciphnary research is more challenging than that in within
any single discipline.

Reasons (R) : It 1s not possible to combine knowledge from two disciplines.

In the hight of the above statements, choose the correct answer from the options given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(3) (A) 1s true but (R) 1s false

(4) (A) 1s false but (R) 18 true

= g #oF feu 7w 2 : vF iR (Assertion A) % ¥4 H fafiga 3 1 790 S5 HRW (Reason R) #

Y9

'
H

R (A) T v g wen sl g gt 2, PRl o orea o % el TR e oy

H ge A |

F7 (R) : 2} faeel ° w79 w1 AgeE T a8 2 |

I HYF T e H, 99 30 v Feed 8§ 99 ST % 991 i

(1)
2
(3
(4

(A) 3R R) g = 2 21k R), (A) Fi w81 = 7|

(A) 3T (R) 3T 5 7 @l (R), (A) Fit 5t = 76 2 |
(A) 77 2 WA (R) 9797 2 |

(A) 57T ® SifeF (R) &cF R

[Question ID = 2720][Question Description = Q42_GP_Set8_S1_5Shift2]
1. 1 [Option ID = 10877]
2. 2 [Option ID = 10878]
3. 3 [Option ID = 10879]
4, 4 [Option ID = 10880]

Correct Answer :-
e 1 [Option ID = 10877]

38)

Empirical studies have shown that the women studenis are under represented in the

disciplines such as science, technology, engineering, and mathematics (STEM). Its possible

reasons could be

(A) Women students do not feel comfortable with STEM subjects.
(B) Women students cannot excel in STEM subjects

(C) Woment students lack 1n aptitude in STEM subjects

(D) Women students face threats due to negative stereotypes.

(E) Women students are not encouraged by the parents to join STEM disciplines.

Choose the correct answer from the options given below :
1) (A (C), (E)only 2y (B), (E)only
3  (C). (D) only @ (D). (E)only
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R Al § gmEn @ O Atk e @ e, o siienteeht ok e (Tedse)
S fowm | areT iaica 2 | 39 SRNTad R B W 5
(A)  AfEen-femfor (ouds.em.) e % oy ges ey T8 s 2|
B) Afeen-fEnffo (wA3wm.) T 9 oo geen T W @ |
(€) Afeen-fEmfim @ (ve @ im.) fawm o afiesfa = st 2

D)  AfEer-famrefimor Tcers Sleagar = Fror g = 9o B 3 |
(E)  =fpen-foensfimr <t s ara-fa % g (vg.disun)) ot = o1 % foe seofza w8 fomn sman

2l
Hrr fou U Rerpedl ° W TE 3T w1 99T il
(1) %7 (A), ©). E) @) Faw (B). (B)
(3)  aet (O), (D) @) Fa= (D), (E)

[Question ID = 2721][Question Description = Q43_GP_Set8_S51_Shift2]
1. 1 [Option ID = 10881]

2. 2 [Option ID = 10882]

3. 3 [Option ID = 10883]

4, 4 [Option ID = 10884]

Correct Answer :-

a 1 [Option ID = 10881]

39 i
) (Given below are two statements :

Statement I: A hoshstic and multi — disciplinary education aims to develop intellectual,

aesthetic. social. physical, emotional and moral capacities of students.
Statement II : In 215t Century persons require only intellectual capacity to be successful.

In the light of the above statements. choose the most appropriate answer from the options

given below:

(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement 1I are false
(3) Statement I 1s true but Statement IT 1s false

(4) Statement I 1s false but Statement II 1s true

H (D : U T 3R sg-Tas-fen 1 sivg FenfiE & sifgs, ed-weim, gt awifes,

AT ot I amaret =+t freem 2|

o A1) : 21 saed 8 =fFaa = aww 29 % o e Sifgs s 6 seeswar T 2

IuLid BYA o ATk 4, = oy e et 4 o wed suEms SOt = AR
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(1 =EIsIlaq a3 |
(2 w1 OIA 53 2 |
8 = Iuwe 2, afeT =9 11 59 2|

(4) = 1 omae 2, o w99 [ ae 2|

[Question ID = 2722][Question Description = Q44_GP_Set8_S1_5Shift2]
1. 1 [Option ID = 10885]
2. 2 [Option ID = 10886)
3. 3 [Option ID = 10887)
4. 4 [Option ID = 10888]
Carrect Answer :-
» 1 [Option ID = 10885]

Global Citizenship Education (GCED) aims at

(A) Making students to become members of U.N.O.

(B) Helping students to understand contemporary global challenges.

(C) Making students to become promoters of peaceful societies.

(D) Making students eligible to join foreign services.

(E) Making students eligible to become diplomats.

Choose the correct answer from the options given below :

(1) (A, (B)only 2 (B), (C) only

(3)  (C), (D) only 4 (D). (E) only

Afers ApTiesar fan (8159 =1 2w 3

&) el = 7,0, =1 vee w9 S forg SEm wE
B) il =t aramtes Afvas Hifeal = augn 7 ggra

(C) Tt = wfagel WA = WicATETEAl S % T GAR |

D) et +t few Seett 9 9 % Jivw 5=
(E) fernfii=i =6t vemiies s=4 % 9ivg sq4m1

H= fu m fmedt § o 98 s = 9= i

1y = Q) B) 2 == B), (C)

@) = (C), (D) @) Faa D), (E)

[Question ID = 2723][Question Description = Q45_GP_Set8_S51_Shift2]
1. 1 [Option ID = 10889]
| 2. 2 [Option ID = 108%0]
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| 3. 3 [Option ID = 10891]
4. 4 [Option ID = 10892)

Carrect Answer :-
& 1 [Option ID = 10889]

Topic:- GP_Set8_C
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1)

Read the passage and answer question

The need for a theory of justice relates to the discipline of engagement in reasoning about a
subject on which 1t is as eminent author Burke noted, very difficult to speak. It is sometimes
claimed that justice 1s not a matter of reasoning at all; it 1s one of being appropriately
sensitive and having the right note for injustice. It is easy to be tempted to think along these
lines. When we find, for example. a raging femine, it seems natural to protest rather than

reason elaborately about justice and injustice. And yet a calamity would be a case of injustice
only if it could have been prevented. and particularly if those who could have undertaken

preventive action had failed to try. Reasoning in some form cannot but be involved in moving

from the observation of a tragedy to the diagnosis of injustice. Further more, cases of
njustice may be much more complex and subtle than the assessment of an observable
calamity. There could be different arguments suggesting disparate conclusions, and
evaluations of justice may be anything but straight forward. The avoidance of reasoned
justification often comes not from indignant protestors but from placid guardians of order
and justice. Reticience has appealed throughout history to those with a governing role,
endowed with public authority, who are unsure of the grounds for action, or unwilling to
scrutinize the basis of their policies. The requirements of a theory of justice include bringing

reason Into play in the diagnosis of justice and injustice, Over hundreds of years, writers on
justice in different parts of the world have attempted to provide the intellectual basis for

moving from a general sense of injustice to particular reasoned diagnosis of injustice.

What 1s central to the theory of justice?

(1)
(3

Reasoning on a subject (2) Difficult interpretations
Subjective engagement (4) Identification of an issue

Frefertiga TeA i afeu St w9 % Sw A

= % Togia 1 SavEEa F ey i vE e F o1 § 76 % 99eE i W6 wE U e 24 W 3
o oo o a6 19 e ors 4 @ FeW wgd S sarn 2 ) w77 g@n fen s 2 F
=11 =i a5 1 faeg feepe <@l wa o whar; 77 s9H € v | e sugea wEe % ww-w st
WE THF T | 38 T H WA % [ S 5 e 2 | 39 % T, St gn i @ B R sfaor s
£ ol 9 =@ aw = F 9N ° Rangd® ae-faah e o omer e g e wanntas
TATE B NS adl UF o B wEdl 2 Afe suw faww fem st w9, aun o = @ 9 o o 3m
o A Franoners w5 9= gwd o, UH W 6 T ° oEed @ | B Y 0 a go o ad, efew
fordt el & raeiie O 3 % fAgE A o0 "ed B e 2| u falgd, s % A steetEa
T T A SISl % gead $ 9o ° it 9w ok gam B | T e-fim Tl % gge e
ST a% & TFd 3 i =/ % geai 3% i 9 gehar 2 X dig " = o aehge giaare
1 RER 3¢ Friusaisn O 78, afee oaen awn = % miata e 8 2 ua 2 sfhem = 2 5
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. 1 [Option ID = 10893]

2 [Option ID = 10894]
3 [Option ID = 10895]
. 4 [Option ID = 10896]

Correct Answer :-
e 1 [Opticn ID = 10893]

Read the passage and answer question

The need for a theory of justice relates to the discipline of engagement in reasoning about a
subject on which 1t 1s as eminent author Burke noted, very difficult to speak. It i1s sometimes
claimed that justice 1s not a matter of reasoning at all; it 1s one of being appropriately
sensitive and having the right note for injustice. It is easy to be tempted to think along these
lines. When we find, for example, a raging femine, it seems natural to protest rather than

reason elaborately about justice and injustice. And yet a calamity would be a case of injustice
only if it could have been prevented. and particularly if those who could have undertaken

preventive action had failed to try. Reasoning in some form cannot but be involved in moving
from the observation of a tragedy to the diagnosis of injustice. Further more, cases of
njustice may be much more complex and subtle than the assessment of an observable
calamity. There could be different arguments suggesting disparate conclusions, and
evaluations of justice may be anything but straight forward. The avoidance of reasoned
justification often comes not from indignant protestors but from placid guardians of order
and justice. Reticience has appealed throughout history to those with a governing role,
endowed with public authority, who are unsure of the grounds for action, or unwilling to
scrutinize the basis of their policies. The requirements of a theory of justice include bringing
reason Into play in the diagnosis of justice and injustice, Over hundreds of years, writers on
justice in different parts of the world have attempted to provide the intellectual basis for
moving from a general sense of injustice to pariicular reasoned diagnosis of injustice.

What is the simplistic view about justice?

(1)
2
(3
@

It is a matter of reasoning
It 1s being appropriately made aware of injustice
It 1s of very little significance

1t 1s a matter of protest
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[Question ID = 2725][Question Description = Q47_GP_SET8_51_Shift2]
1. 1 [Option ID = 10897]
2. 2 [Option ID = 10898]
3. 3 [Option ID = 10899]
4. 4 [Option ID = 10300]

Correct Answer :-
e 1 [Option ID = 10897]

Read the passage and answer question

The need for a theory of justice relates to the discipline of engagement in reasoning about a
subject on which it is as eminent author Burke noted, very difficult to speak. It is sometimes
claimed that justice is not a matter of reasoning at all: it 1s one of being appropriately
sensitive and having the right note for injustice. It is easy to be tempted to think along these
lines. When we find, for example, a raging femine, it seems natural to protest rather than
reason elaborately about justice and injustice. And yet a calamity would be a case of injustice
only if it could have been prevented. and particularly if those who could have undertaken
preventive action had failed to try. Reasoning in some form cannot but be involved in moving
from the observation of a tragedy to the diagnosis of injustice. Further more, cases of
injustice may be much more complex and subtle than the assessment of an observable
calamity. There could be different arguments suggesting disparate conclusions, and
evaluations of justice may be anything but straight forward. The avoidance of reasoned
justification often comes not from indignant protestors but from placid guardians of order
and justice. Reticience has appealed throughout history to those with a governing role,
endowed with public authority, who are unsure of the grounds for action, or unwilling to
scrutinize the basis of their policies. The requirements of a theory of justice include bringing
reason Into play 1n the diagnosis of justice and injustice, Over hundreds of years, writers on
justice 1n different parts of the world have attempted to provide the intellectual basis for
moving from a general sense of injustice to particular reasoned diagnosis of injustice.

In the case of a calamity. it should lead to a feeling of injustice when

@)
2)
(3)
@

It 1s left unobserved

It affects vulnerable people

Concerned authorities did not make an attempt to prevent it
Concerned authorities did not know how to prevent it
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[Question ID = 2726][Question Description = Q48_GP_SET8_51_5Shift2]
1. 1 [Option ID = 10501]
2. 2 [Option ID = 10902]
3. 3 [Option ID = 10903]
4. 4 [Option ID = 10%04]

Correct Answer :-
a 1 [Option ID = 10901]

Read the passage and answer question

The need for a theory of justice relates to the discipline of engagement in reasoning about a
subject on which 1t 1s as eminent author Burke noted, very difficult to speak. It 1s sometimes
claimed that justice 1s not a matter of reasoning at all; it 1s one of being appropriately
sensitive and having the right note for injustice. It is easy to be tempted to think along these
lines. When we find, for example, a raging femine, it seems natural to protest rather than

reason elaborately about justice and injustice. And yet a calamity would be a case of injustice
only if it could have been prevented. and particularly if those who could have undertaken

preventive action had failed to try. Reasoning in some form cannot but be involved in moving

from the observation of a tragedy to the diagnosis of injustice. Further more, cases of
1njustice may be much more complex and subtle than the assessment of an observable
calamity. There could be different arguments suggesting disparate conclusions, and
evaluations of justice may be anything but straight forward. The avoidance of reasoned
justification often comes not from indignant protestors but from placid guardians of order
and justice. Reticience has appealed throughout history to those with a governing role,
endowed with public authority, who are unsure of the grounds for action, or unwilling to
scrutinize the basis of their policies. The requirements of a theory of justice include bringing

reason Into play in the diagnosis of justice and injustice, Over hundreds of years, writers on
justice in different parts of the world have attempted to provide the intellectual basis for

moving from a general sense of injustice to particular reasoned diagnosis of injustice.

Avoidance of reasoned justification can be sourced to

(1
)
(3)
4

Protectors seeking justice
People unaffected by policy - decisions
The public not interested in justice

Public authority
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[Question ID = 2727][Question Description = Q49_GP_SET8_S1_Shift2]
1. 1 [Option ID = 10905]
2. 2 [Option ID = 10906
3. 3 [Option ID = 10907]

4. 4 [Option ID = 10908

Correct Answer :-

e 1 [Option ID = 10905]

Read the passage and answer question

The need for a theory of justice relates to the discipline of engagement in reasoning about a
subject on which 1t 1s as eminent author Burke noted, very difficult to speak. It i1s sometimes
claimed that justice 1s not a matter of reasoning at all; it 1s one of being appropriately
sensitive and having the right note for injustice. It is easy to be tempted to think along these
lines. When we find, for example. a raging femine, it seems natural to protest rather than

reason elaborately about justice and injustice. And yet a calamity would be a case of injustice
only if it could have been prevented. and particularly if those who could have undertaken

preventive action had failed to try. Reasoning in some form cannot but be involved in moving

from the observation of a tragedy to the diagnosis of injustice. Further more, cases of
njustice may be much more complex and subtle than the assessment of an observable

calamity. There could be different arguments suggesting disparate conclusions, and
evaluations of justice may be anything but straight forward. The avoidance of reasoned
justification often comes not from indignant protestors but from placid guardians of order
and justice. Reticience has appealed throughout history to those with a governing role,
endowed with public authority, who are unsure of the grounds for action, or unwilling to
scrutinize the basis of their policies. The requirements of a theory of justice include bringing

reason into play in the diagnosis of justice and injustice, Over hundreds of years, writers on
justice in different parts of the world have attempted to provide the intellectual basis for

moving from a general sense of injustice to particular reasoned diagnosis of injustice.

A particular diagnosis of injustice will lead to a theory of justice based on

(1)
(2)
3
@

A general sense of the 1ssues
Empirical analysis of injustice
Intellectual evaluations

Historical traditions
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[Question ID = 2728][Question Description = Q50_GP_SET8_51_Shift2]
1. 1 [Option ID = 10909]
2. 2 [Optien ID = 10910]
3. 3 [Option ID = 10911]
4, 4 [Option ID = 10912]

Correct Answer :-
e« 1 [Option ID = 10%09]
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